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Question Number : 1 Question Id : 91394320923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options:

- ! a9 - - a9 - a9 . - k-
1304350001 /) learner’s brain develops faster in childhood.



- Il-| - - :r Ir - .LN Il-| ] Ir- - - - I.-|.
159438502 A learner learns effectively when it is supported with real life examples

What a learner can do with help and without help.
91394382203,

51394330204 Lriends interaction is very important for proper development of child.

Question Number : 1 Question Id : 91394320923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 2 Question Id : 91394320924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options:

91394382505, Humanism, Commercialisation, Urbanisation, Hinduism

91594389506, Naturalism, Humanism, Internationalism, Idealism

01594582507 Globalisation, Localisation, Transformation, Capitalism

Socialism, Spiritualism, Tourism, Commercialism
91394382208,

Question Number : 2 Question Id : 91394320924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91334582205

91334582206

51394382007 A3l MR, IR, YSiidg

- GUISTETR, LTS, THeH, SAEHTashdl

91334582208

Question Number : 3 Question Id : 91394320925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study of the theory and practice of self-determined learning that focuses on the
importance of knowing how to learn is known as :

Options:

LIS ooy
1504380009 LPIStEmMOlOgYy

Andracoey
91394382210, “bYbY

Pedacoov
91394382211, agos)

Heutag¢oovy
91394382212, oo/
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Correct Marks: 2 Wrong Marks: 0
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Options:

B1334582209.

TTEITeq Jomet

91334582210,

91334582211, ‘Fm A2

91394382212, SATeH - 3AfeT

Question Number : 4 Question Id : 91394320926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The construction of thought process, which includes remembering, problem solving and
decision making, is called as :
Options:

Andracoey
91394382213, 5986}

y PR
"5y HOgY
912334552214, I 2, cholc &)

dYodacoov
91394382215, Pedagogy

Cognitive development
91394382216,
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Correct Marks: 2 Wrong Marks: O
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91334582215,

a1z94zg001g, SAlTICHS [Fonid

Question Number : 5 Question Id : 91394320927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The field of study dealing with methods and principles used in adult education is known
as :

Options:

> RS PR ;
91394382217, IE[{‘I?)[}ETF

2 T i T
91394382218, Andrd‘_%mg)}

Anthropoloev
31394352219, POIOEY

S Gerontology
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394382217, TSFTT (Teqreme)

TGt (rgfaret yome)

2159425822185,

wyrers (Ffaam)

91334582219,

SETerstt (SH-fa=m)

2153942582220,

Question Number : 6 Question Id : 91394320928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The four approaches to knowing answers to research questions, according to Kerlinger,
are :

(a) Method of tenacity

(b)  Method of intuition

(c) Method of authority

(d) Method of science

(e) Method of creativity

(f)  Method of non-functionality
Code :
Options:

(b), (c) and (d)

91394382221 (a),

(b), (¢), (d) and (e)

H1334582222.

(d), (e) and (f)

B1334582223. (b)’

13094380004 (©) (d), (e) and (f)
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Correct Marks: 2 WrongMarks: 0
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(@), (b), () ¥R (d)

913345382221,

c), (d) 3R (e)

91394382222 (b)’ (

(b), (d), (e) S (f)

91334582223,

a1394382224, (O (), (€) 3R (f)

Question Number : 7 Question Id : 91394320929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

One way to measure the extent to which a measure is free of random error is to compute
its :
Options:

o139438000c CONtENt validity

Experimenter’s bias
91394382226

Test-retest reliability
91394382227, :

91594385558 Demand characteristics
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 8 Question Id : 91394320930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options:

91394382999, Emphasis on evidence

Focus on empiricism
91394382230,

91394330031 Reductionism

915394380555 Obsession with creativity

Question Number : 8 Question Id : 91394320930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334582229, HIET W EﬁT

IIHFEAR R SR

215394282250

2153942822351, %
GoHIcHehdl & 9fd 3rcafye ST fe

B1324582232

Question Number : 9 Question Id : 91394320931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which method is appropriate to reduce random error ?

Options:

o1304332233, Jclect large sample size

& 'L, L1 . : ¥ 1’ " " )
01394389534 Administer the test after a gap of one week

51394382255 Administer the treatment in the same way every time

15043800z Lrdminister manipulation checks

Question Number : 9 Question Id : 91394320931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91294382233, < 159 SARR 1 =TH
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91334582254

91394350235, ©¢ oL Teh HHIT ®Y Y ITEIR HET

91334582236, m SIEA SrE

Question Number : 10 Question Id : 91394320932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In relation to code of conduct in research, what does APA stand for ?
Options:

o1504550557 Advanced Psychological Authority

sveholooic ssociatio
o1504300ge LiMerican Psychological Association

Australian Psvcholoeical Association
91394382239, S el ks R G

TaraTe 1 Yoy v 1 TaraTars .
S50 n of Psycholog 5Ses¢ :
a15043m00an, LASSOCIation of Psychological Assessments

Question Number : 10 Question Id : 91394320932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
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Sub-Section Number: 2
Sub-Section 1d: 9139431104
Question Shuffling Allowed : Yes

Question Id : 91394320933 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is instead to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not hLelv to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394320934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options:



a1594350041 10 Percent

9. -
Q13942382242 _U pEI’LEHt

~y o
01394382243, 00 percent

4(0) percent
91394382244,

Question Number : 12 Question Id : 91394320935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why should the governments be open to privatisation of airports ?
Options:

3 L'! T 1 Ir - T - e " L'|
91394382245 Because they own many airports

Because there is a battle for growth
91394382246

For necessary ::apita[
91394382247, .

91594385548 ['o Iimit the government control of aviation 111duﬁ.tr}r

Question Number : 13 Question Id : 91394320936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b)  Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options:

(a), (b) and (c)

B1334582249.

(b), (c) and (d)

B1334582250.

(c), (d) and (a)

91334582251,



and (b)

91394382252, (d), (a)

Question Number : 14 Question Id : 91394320937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the key for making airports function efficiently ?
Options:

lake pri companies as minority s lders.
a15043m0ecy  Make private companies as minority shareholders

) | 10 H 1 - 1 - - 5
10 L s to Yers.
1504300, L TOVIde misaligned incentives to managers

- ¥ e . = = - ks ke N - - - e 1 - b i a1
a15943m00ss ECOgNIse political imperatives of bureaucrats appointed as managers.

Avoid structures of confused incentives to managers.
91394382256

Question Number : 15 Question Id : 91394320938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

...Q

Which of the following is the focal inference of the author in the passage

Options:

; YWhner: ) rts does no y .
o150458005, L Tivate ownership of airports does not mean efficient management

o15943500cg Growth of the aviation industry is distorted.

irports ) bstacle to ywth of aviation i stry.
01304380050 LMTPOrts are not an obstacle to the growth of aviation industry

Government-owned airports are known for high performance.
913943822860,

Question Id : 91394320933 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cestion Label | Comprehiension
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Question Number : 11 Question Id : 91394320934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

913394382241, 10 E”‘H d
20 Fiqerd

B1324552242

L ]
913943832243 30 | EIQIEI
91394382244, 40 QI:E!QEEI

Question Number : 12 Question Id : 91394320935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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913345382246,
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Question Number : 13 Question Id : 91394320936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(@), (b) 3R ()

913345352249,

(b), (c) 3R (d)

B1334582250.

(©), (d) 3R (a)

H1334552251.

(d), (a) 3R (b)

2153394282252,
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Correct Marks: 2 WrongMarks: 0
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Options:

fosit shafal 1 o JUTHReR S

2153942822535,
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12334582254,
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91334582556,



Question Number : 15 Question Id : 91394320938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

91394380057 AT ERREIES I e IR A FAHA 8l %l
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Question Number : 16 Question Id : 91394320939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Signs are considered as secondary products of :

Options:
R

91394382261, VIESSAZE

91394382965 Channelisation

Semantic accura cy
91334582263, "

91394380764, Infotainment

Question Number : 16 Question Id : 91394320939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

a9 &

H1334552261.

B1334582262. €= I l l [ <hl
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B1334582264.

Question Number : 17 Question Id : 91394320940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The relational approach in classroom communication comes from :
Options:
01394380065 INra-personal communication

Inter-personal communication
91394382266,

& T = i - - . - k=
130438005, OTganisational communication

91394389268, Mass communication

Question Number : 17 Question Id : 91394320940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

ST, | ’
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21594252266,
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SHEER

B91334582268.

Question Number : 18 Question Id : 91394320941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Classroom speech is considered as a :

Options:
91394330269, 1 echnical medium

91394382270, INON-technical medium



91394382071 Mass medium

150438007, UNOrganised medium

Question Number : 18 Question Id : 91394320941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN HYTIOT &1 T /T ST 8 2

Options:

91334582269, deh-ilehl HIEIH

91394382270, TR-TqehIeh] HIEAH

215942582271, ST HIEIH

9139438007 STod HIEAH

Question Number : 19 Question Id : 91394320942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In a classroom, communication becomes effective when participants are :
) Active
b) Empathetic

d) Homophilous

(
(
(c) Heterophilous
(
(
(

e) Silent
f) Uncritical
Code :
Options:

91394382273, (a), (b), (c) and (d)

91394385574 (b), (c) (d) and (e)

(a), (b), and (d)

B1334582275.

91394382576, (c). () and (f)



Question Number : 19 Question Id : 91394320942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

T Feql H GY9 YTt 21 § Afe Uiadw
(a) HfFT &

(b) FEFYfTweF &
(c) foumfe 2
(d) FHfer 8
() THT

(f) T&S ®Y Y AT Hd B
che :

Options:

(@), (b), (c) 3R (d)

B1334582273.

(b), (©), (d) 3T (e)

1334582274,

91334582275,

B1334582276.

Question Number : 20 Question Id : 91394320943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Overt

(c) Non-functional
(d) Indirect

(e) Third party

(f)  Testing

Code :

Options:

(a), (b), (d) and (e)

B1334582277.



91394382278, (b), (c), (e) and (f)
91394382279, (b), (d), (e) and (f)

s1394382280. (3)r (D), (€) and (f)

Question Number : 20 Question Id : 91394320943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B ol Go 1 T80 A 1 i el €

a) TAsftaca-3q@

b) UdH
c) 3THMEHF
d) ATFH

e) ?Fﬁzftm"l

(
(
(
(
(
(F) e
<he<

(a), (b), (d) 3R (e)

B1334582277.

(b), (c), (e) AR (f)

B913345382278.

(b), (d), (e) 3 (f)

91334582279,

(a), (b), () 3T ()

91334582280,

Question Number : 21 Question Id : 91394320944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If DIVE is coded as IMYG, then the code for TAKE will be :

Options:

2153394282281, XFMG



H1334582282. YENG

H1334582283. TEMG

91334582254, XENG

Question Number : 21 Question Id : 91394320944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gfq DIVE &1 IMYG % ®9 H Feag fHan irar € @ TAKE &1 2 2

Options:

91394382281 XEMG

91334582282, YENG

TFEMG
91394382283,

91334582254, XENG

Question Number : 22 Question Id : 91394320945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The next term in the series is :

o6, 40, 27, 17, 10,

Options:

B1334582285. 6
B13345822586. 7

H1334582287.

2153394282288, >

Question Number : 22 Question Id : 91394320945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TH @l sl QU HIT
06, 40, 27, 17, 10,

Options:




91334582285, 6
913345822586, 7

B1334582257. 8

o

91334582288,

Question Number : 23 Question Id : 91394320946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the letter series is ;

ME, KH, IK, GN, 15 ;

Options:

B12334582289. hQ
91334582230, CK

a1394382291. bD

91394382292.L)L

Question Number : 23 Question Id : 91394320946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U AT sl A HITIT :

ME, KH, IK, GN,

Options:

B91334582259. LQ

913345382230, CK

21594252291, BD

91394380292 DT

Question Number : 24 Question Id : 91394320947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the word which is different from the rest.
Options:
91394382293, L}'E“’

91394380094 LNOSE

Legﬁ.
91394382295,

21594252256, Hands

Question Number : 24 Question Id : 91394320947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feferfiad 5 9 98 9sg FH

Options:

e

B1334582293. AC

91394382294, D
91394350205 UX
B

153394282256

Question Number : 25 Question Id : 91394320948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ram said, “l am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options:

o1594350097 Lather

a1za438000s orandfather

91394380099, Brother-in-law

1394380300 I ather-in-law

Question Number : 25 Question Id : 91394320948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
TH e, ' H SO T 1 STReT STeTeh § | S5 A8 39 U oS hi 311 SN HLd gU %A, I8
dAeH T A F i F ufa g1

9 H1 39 ASF Y 7 Gy ¥ ?
Options:

913345822597, I Il

B1334552295. =

-l

215394282299

91394382300, hle -1l

Question Number : 26 Question Id : 91394320949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises (a) and (b).

Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].
Premises : (a) Some women are teachers.

(b) All teachers are hard-working.

Conclusions :
(i)  All hard-working people are teachers.
(i)  All teachers are not women.
(iii) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options:
912334582201, (l) and (II)
(ii) and (iii)
91334582202,
(1) and (iv)
2153342523035,
(iii) and (iv)
91334582204,

Question Number : 26 Question Id : 91394320949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



== 1 SER-aE few T € (a) 3R (b) |

0 § IR fehd 3qgd fore e €| 39 e b1 e 5 e (df) § Sfaa w9 1 Seera foan @
T [STHR-aT 1 Ushel ®9 § 41 G5 &9 9 oid 2] |

WUT AT :  (a) P Hfead e 2|

(b) Tt forereh HeTat €

Frrend ) | e e e ¥
(i) 9t forerss Afgad 72 € |
(iii) FS T e Afeard €1
(iv) D Afedd Hed 2 |

e

Options:

Gl1394282201. (l) Sﬂ_{' (l‘.l)

Q1=Z94252202, (H) a:ﬁ-{ (LLI'.)

A1=2942522032, ([) aﬂ_{ (IV)

Q1394252204 (LL[) aﬂ-{ (IV)

Question Number : 27 Question Id : 91394320950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following arguments the conclusion can be no more than probable ?

Options:
Implicative

91394382305, P "¢

1394380306 AANalogical

91394380307, Deductive

91394380305 Lemonstrative

Question Number : 27 Question Id : 91394320950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiad § 9 frg a5 4 frewd Surea 9 stfeer 7@ 21 el €72

Options:



215334282305, i

B12334582206.

913345382307, (H A

UeYcHh
Q1294282 208,

Question Number : 28 Question Id : 91394320951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“To slow a beast, you break its limbs.

T'o slow a nation, you break its people.”
- Identify the argument involved in the above :

Options:
91394380300, INductive

51394330310 Deductive

Analoeical
9139438231 1. s - e

91394382512, Demonstrative

Question Number : 28 Question Id : 91394320951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
"Rt SiTelt U] T Tfd BiGH i o fT A9 39k ST @ dred € |
Tt T2 1 WIIfd U o TT0 2119 =@ & @l 3 e o wid e |
3T | HisIfed qeh ge=n

Options:

HATHATHR
91394382309, ¢

91394382310, 1 1ATICH

21594252511, H|%%¢“'~"‘|Ch



2153394282312, AR

Question Number : 29 Question Id : 91394320952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options:

913345852513, Inductive

91394352514, Deductive

9139438031 Lemonstrative

913945332516, Analogical

Question Number : 29 Question Id : 91394320952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“ SamETe 3R TR & ey faeme Hey difdher STEavashdl § - I8 " Aefatad § 9§ g a5
HEmare?

Options:

91394382313, SITHAICH

[

91394382314, |1 IHAICHh

913943582315, A@XITICH

91334582216, N |%?‘3-||T"|°h

Question Number : 30 Question Id : 91394320953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :

Options:



(a) and (b)

91334582217,

(a) and (d)

9153394252315,

(b) and (d)

H1334552219.

(b) and (c)

913345822320,

Question Number : 30 Question Id : 91394320953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frefarfead oAl § <1 o Tk g F WER fadef €1 3% feftd &3 aren $e 9w
hdH :

a) g9 yoafafecgs fafehcas €1

(
(b
(
(

)
)

F3 T afredd Tafhes

¢) FD eArAha® fafhedd Tl 2|

d) FE vAtafhes fafhes & & |

< :

Options:

(a) 3R (b)

91334582217,

(a) 3R (d)

9153394252315,

(b) 3T (d)

215942525319,

(b) &R (0)

2153942582320,

Sub-Section Number: 4
Sub-Section 1d: 9139431106
Question Shuffling Allowed : Yes

Question Id : 91394320954 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension



Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 2. 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394320955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The average speed of cab A for the three days taken together is approximately :
Options:

91394382321, 10 km/hr

20 km/ hr

B9133458232%.

30 km/ hr

91334582323,

91394382324, 2V km/ hr

Question Number : 32 Question Id : 91394320956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference between the average speed of cab C and cab E on Monday is :
Options:

11 kms/hr

91394382325,
91394382326, 21 kms/hr

ol [ - N
91594382527, 31 [\[Tlhfhf

41 kms/ hr

2153394282328,

Question Number : 33 Question Id : 91394320957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which cab travelled the most in the three days taken together ?

Options:

91394380329, D

2912334582230, C

913345382331, D

913345825332,

Question Id : 91394320954 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

E

Question Numbers: (31to 33)
Juestion Label - Comprehension

AR TR ECEI
99 ER 99 Ll 99 ELl
Ex| (=21 H) | (fedr. #®) | (s@i#H) | (fra ) | (s=@id) | (fmdh #)

A 16 656 12 480 10 410
B 10 700 14 49() 18 720
& 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

Iy difetet | 9 o fFamier 3R & A, B, C, D, 3R E g1 UHeR, HTear 3 g4ar & 7
T 77T 53] T TET T |
IUYF ATdhel 1 STAN Fd U A1 S T Y947 o 3o i |

Sub questions

Question Number : 31 Question Id : 91394320955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel TRt & ‘A’ &1 i fedi &1 Sigd Tfa e g

Options:

10 TeReATHTeT i e

2153394282321,

20 fRaATHT 9fd e
30 ferardTeT gfd se

B9133458232%.

2159425825325,



40 ToRerHeT gfd =

913345825324,

Question Number : 32 Question Id : 91394320956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHAR &1 %9 C 3 Fd E 1 379d i § o sfav 22

Options:

91394350305, 11 TehIHIZY Hid =]

21 TohemTe wfd e

91334582326

31 e 9fd Sel

B1334582327.

91394380505, 21 [CAHIZ JId =

Question Number : 33 Question Id : 91394320957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
1 A1 # 9 %@ g waitys g 99 &1 71 2

Options:

91334582329, B
91334582230, C

H91334552521.

913345823352, B

Sub-Section Number: 5
Sub-Section 1d: 9139431107
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394320958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options:



~
v

A

H1334582533.

913345352324,

O O

91334582535, O

(Oc

21594252556, \

\Q/

Question Number : 34 Question Id : 91394320958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freafafaa 9 fog wafas § ura, fava 3ir 72 fooodt & == wdiaq gdy &1 Fefua fea w82

Options:
(o)~
_

7. \

91334582533,

=)

913345352324,

2153394282355,

913345822356,

Question Number : 35 Question Id : 91394320959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?



Options:

B1334582337.

91334582238, -

2, 8
D/

II_.-
|"'-
L

o

|

H13345522339. =

) ()
91394382340, Q O

Question Number : 35 Question Id : 91394320959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefafeaa § § o @t § 9RER, T 3R 5e A/ Al & o= |69 i Jarqd €9 4§
frefua fe T 22

Options:
OO

B T Y A8

913942382337,

Y
g s

“ON
-

P
l

2153942525358,

7O
W0

91334582339,

Y C

III'H_H.\I
L

L

91334552340,

Question Number : 36 Question Id : 91394320960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not a Network Topology ?

Options:



Imo
Q1=294252241. J'{[n'D

91394382342, Chain

21594252345, Bus

91394382344, Star

Question Number : 36 Question Id : 91394320960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefafad § 9 sA-91 T2 Fiftafd (rdrerst) & €2

Options:

fa

2153394252341,

913345822342, |
91334582343, K

91334582244, SR

Question Number : 37 Question Id : 91394320961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following :

List - I List - II
i)  Outlook
i) DOS

iif) Internet Explorer

a) Browser
)

o

Programming Language

d) E-mail
The correct code is :

e del e e

91334582245, (1) (I'.I_I'.) (I_I'.) (IV)

(
(
(c) Operating System
( iv) Fortran

s1394382346, W) (V) (i) ()



91334582347, (I_I'.) (ILI'.) ([V) (l)

2153394252345, (IV) (I'.I_I'.) (LI'.) (1)

Question Number : 37 Question Id : 91394320961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafad =1 faem =1 -
Tt - 1 e - 11

a) SIIESH (
b)  HHTHT AAES (
S A i
(

¢) 3TN faEn

d) =-1«

(@) (b) (c) (d)
91394%82345_ (i) (i) (i) (iv)

B123345822346. (LI'.I'.) (IV) (I_I'.) (l)

91394382347 (i) () (@v) (D)

91334582248,

Question Number : 38 Question Id : 91394320962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following denotes the Internet hardware requirements ?
a) Hub

b) Bridge

c¢) Router

d) Gateway

(e) Modem

Code :

Options:

(e) only
91394382349, :

(a), (b) and (e)

B91334552350.

(b), (¢), (d) and (e)

91334582351,

91394385355 (a), (b), (¢), (d) and (e)

Question Number : 38 Question Id : 91394320962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frAfafEd | 9 ShiH-41 3231 TedaR AEYIHAIs shl <90dl g 2

91334582249, ((-_‘)

(a), (b) 3R (e)

B91334552350.



(b), (c), (d) 3T (e)

912334582251,

0), (d) S (e)

91394382352, (a), (b), (

Question Number : 39 Question Id : 91394320963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A set of rules used in communications in a network is called :

Options:

91394350355 Interface

B =
91394382354 L TOtOCOL

91394382355, ddress

s1394380355. Reference

Question Number : 39 Question Id : 91394320963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

O e 3 T g P o e e g

Options:

91334582353, :
913345825354, I”!ll g

91334582355, " ?‘
THH

913345852356,

Question Number : 40 Question Id : 91394320964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are pointing devices ?

(a) Trackball (b) Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options:



2R i
91394382357, (a) only

(a) and (d)

91334582358,

(a), (b) and (d)

91334582359,

s1394382360, (@) (D), (€) and (d)

Question Number : 40 Question Id : 91394320964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frAfaiEd § 9 -4 SEfen 39 8 ?

) Wtk eacte (d) Sirafes

Options:

Sad (a)
(a) 3R (d)

91334582357,

91334582358,

(a), (b) 3R (d)

91334582559,

(a), (b), (c) ¥R (d)

B1334582360.

Question Number : 41 Question Id : 91394320965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A study was carried out on the drought resilience in India. Which of the following States
show highest level of handling drought ?

Options:

91394385361 Telangana, Andhra Pradesh, Tamil Nadu

a1394330362 Odisha, Karnataka, Kerala

Sikkim, Punjab, Arunachal Pradesh
91394382363,



a1394380364 ) harkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394320965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IR | Y fefa T & 9 | ek s1eeA o ) fefaiad § 9 f6 i d g g fued =@
Faifee TR <@ T E 2

Options:
- T, Y @, Ty

2913394282361

91394332362 O FS9l, FAIeh, Hid

[

o15945505cs  [IRH, TSI, BT HaTl

B91334582564

Question Number : 42 Question Id : 91394320966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most harmful types of environmental pnﬂutants are :
Options:

- 1’ r.- - . Ir-.- I--| II-|
91394389365 Human organic wastes

T S g ) i ” ]
91594585366, Wastes from faecal matter

a139435036> INon-biodegradable chemicals

91394380365, Natural nutrients present 1n excess

Question Number : 42 Question Id : 91394320966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qaTYek BN JAETg Ygue ¢
Options:

o) ¢
91394382365, AIMd 9d I

fawal 51 319ad

2153394282366,



TR-SE3TI&og 9

B1334582367.

Thides e i a1 e

H13345852565.

Question Number : 43 Question Id : 91394320967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :

Options:

1304380360 DOth (A) and (R) are true and (R) is the correct explanation of (A).

o1504380a70 DO (A) and (R) are true and (R) is not the correct explanation of (A).

a1394352371 (A) is true, but (R) is false.

a1za4380570 (A) 18 false, but (R) is true.

Question Number : 43 Question Id : 91394320967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATURLT (A) :  WIHfdH 19 9gd SAHYF TAeR0-gad 394 ¢ |
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e

Options:

91294382389, (A) 3R (R) I H1 € 3R (R), (A) =l T AT ¢ |

(A) 3 (R) I 9&l € 3R (R), (A) 1 Tl ST & € |

91394382370,
91394382371 (A) SEl %! =g (R) TTeTd g
91394382372, (A) TTedd g o] (R) el 2

Question Number : 44 Question Id : 91394320968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What percentage of energy coming from the Sun is re-radiated towards the space ?
Options:

i Q
91334582373, 15%

25%
91394382374,

30%
91394382375 30 %

0
B1334582376. 20 %

Question Number : 44 Question Id : 91394320968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g4 § 32Yd Fe1l 1 foha wfaerd siafte § ga.fafwfa 2 22

Options:

—.
913943323?3.-15’0

VP59
913943823?4_"5'”

L | ]
913943323?5_~“U /o

%
91394382376, 20%

Question Number : 45 Question Id : 91394320969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options:

153394282377,

91334582378,

91334582379,

B1334552380. 16

Question Number : 45 Question Id : 91394320969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

153394282377, 15

B1334582375.

B13345822379. 28

913345822380, 16

Question Number : 46 Question Id : 91394320970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options:

1 C
215942525381, 49

()
r..p' J

215942525382,

H1334552383. o8

62
91334582354, i

Question Number : 46 Question Id : 91394320970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

qC
H1334552381. 4%

]
r-.. J

B1334582382.

91334582383,

62
91394382384,

Question Number : 47 Question Id : 91394320971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Match the following :

List - I List - II
(a) Open University (i)  Odisha State Open University, Odisha
(b)  Dual Mode University (if)  Amity University
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(d) Deemed University (iv) University of Mumbai, Mumbai
(e) Specialised University (v)  School of Planning and Architecture, New Delhi

Options:

91394382385, (i) (i) (v) (1) (iv)
91394382386, 0 (v) (1) (D) (v)
91394382387, (v) (@O (v) () (i)

o139438038z, W) () (1)  (iv) (V)

Question Number : 47 Question Id : 91394320971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) WA vt
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Options:

o1394380385. (W) (@) (v) () ()



B13345822386. (1) (IV) (LI'.) (I_LI'.) (V)

B1334582387. (V) (l) (IV) (I_I'.) [:I_LI'.)

91334582388, (I_I'.) (I_LI'.) (1) (IV) (V)

Question Number : 48 Question Id : 91394320972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(1) BITS, Pilani

(ii) MAHE, Manipal

(iii) ~ Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii)
A1394252289.

(i) and (iii)
9133458223390,

(ii) and (iii)
Q12942582391

(i) and (iv)
Al13a42582392,

Question Number : 48 Question Id : 91394320972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



(1) U5 (ii)
91394382389 h

(1) U4 (iii)
91394382390, ™

(ii) TS (iii)
91394382391 «

(ii) UF (iv)
Q1=294352392, «

Question Number : 49 Question Id : 91394320973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the first states to establish a higher education council was :

Options:

| Sikkim

913345823393

Goa
91394382394,

- n Iy =
91394380395, Andhra Pradesh

1304350305 Jammu and Kashmir

Question Number : 49 Question Id : 91394320973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=R Treq ufieg 1 T 39 a1 U8l O 0 W U ©

Options:

9133453523392, IEI hy
913345282394, “

91334582355, S 3

S 3R HYHR

2153394252356,

Question Number : 50 Question Id : 91394320974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
State higher education councils are established under the instruction of :



Options:

NITI Ayog

2153394282397,

91394382398, RUSA

CABE

2153394252399,

2 I
291234582400, PUSA

Question Number : 50 Question Id : 91394320974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B123345822397. l |~3:|'|?f|'r[

91334582398, &

7.0 2.

21394282299,
91394352400, li
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Question Number : 51 Question Id : 91394320975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Gram Shikshan Mohim (Village Education Campaign) won the for Literacy in
1963.
Options:
Nehru Literacy Award
21594252401,
Tagore Literacy Award
91394352402,
Satyen Maitra Award
31394352403,
91394382404, | oraviPrze

Question Number : 51 Question Id : 91394320975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

31334352401, e T
91394382402, 2 e e
91324352403, e T
91394352404, TR g

Question Number : 52 Question Id : 91394320976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following was the Chairman of the first National Commission for Women ?
Options:

91394382405, Mohini Giri



Poornima Advani

2912345824086,

Jayanti Patnaik
H91334552407.

Girija Vyas
91334552408,

Question Number : 52 Question Id : 91394320976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafeafiaa & @ i wom usdfa afgen sm 6t seae ot 2
Options:

mifedt firdt

B91384552405

gftfar srgarh

91334582406

2913345852407,

91234552408,

Question Number : 53 Question Id : 91394320977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who declared 1990 as Year of the Girl Child ?

Options:

91394382409, HARC
91394380410 Commonwealth
91394382411, MO
91394382412 ndia

Question Number : 53 Question Id : 91394320977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
1990 =t =rfere a9 ferae aifia fen 2

Options:



qEY (9Th)

91334582409,
91334382410, e
91234582411, F T We
9133435241 %. Hrd

Question Number : 54 Question Id : 91394320978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
means right to life, liberty, equality and dignity of an individual.

Options:

Right to Education
913943824153,

Right to Freedom
91334552414,

Human Right
91324552415,

Consumer’s Right
91394252416,

Question Number : 54 Question Id : 91394320978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiga & o forme smem fam, s, gamar ot fadft =afe 6 nfon & sfna g 2
Options:

2915342524135, R

913345352414, i

91334552415,

91334582416,

Question Number : 55 Question Id : 91394320979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The word “Social Education™ was coined by

Options:

91394382417, Z2xr Hussain

91394382415, runa Asaf Ali

91394380419, aulana Azad

41394382420, APJ Abdul Kalam

Question Number : 55 Question Id : 91394320979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“gure fren” s &1 wferargs Frafeafaa o @ ek gro fen man 7

Options:

FfeRt
91394382417, g

912345524185, el

HHer T AT
91394382419,

o, Fege FA
91394382420,

Question Number : 56 Question Id : 91394320980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is not true about training ?
Options:

Training is a two-way process.
B91334552421.

Training is a planned process.
91394382422,

It helps in modification of knowledge and not skills.
913942352423,

It helps in satisfying needs of organization.
Q13943252424 ps ying 8



Question Number : 56 Question Id : 91394320980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wfreror o = H = oo A8 g ?

Options:

gf3reror weh IwEHTT R 2 |
91394382421

wfereror e Frafora e 2 1
91394382422,

75 Htwe Tl tfig w9 d ufears e o gerr e
91394382423

77 TS it STavaha it Hafee F F wErraT w R |
91394382424

Question Number : 57 Question Id : 91394320981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following methods is highly effective for obtaining information on a specific
topic 7

Options:

Interpersonal communication
91334552425,

Interrogator panel
A1=29425242E, 8 P

91394380407, 1nterview

91394380425, Sominar

Question Number : 57 Question Id : 91394320981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafaree farwar ot gt wiea et & forg Frefefiaa & & st fafa srafas wemedt 2 2
Options:

91334582425,

91334582426, e

B91334382427. |



215334252425,

Question Number : 58 Question Id : 91394320982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the correct sequence in evolution of Distance Education in India ?

Options:
Correspondence courses, Distance learning, Open learning, Open Universities
Q1394=3582429, po & -pe 8 -pe
Correspondence courses, Open learning, E-learning, Distance courses
91394282420,
Home delivery, Correspondence courses, Open learning, Visual learnin
9123942382421, r}' po pe g &
Home delivery, Open learning, Correspondence courses, Visual learnin
91394382432, Y, Hpe 8 o 8

Question Number : 58 Question Id : 91394320982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
91394382429, S i Hh
AR , qvh wferm, $@fHn,

41394382430, I, I & LE TS

Foferaft ot s
91394382431, o y AT TS, e , G
91394382432 & feforatt, q sferm, =R e, qraRe wiwm

Question Number : 59 Question Id : 91394320983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which of the following is the equivalency programme used ?
Options:

Continuing Education
91334252433,

Population Education
913942352434,



41394382435, Environmental Education

Legal Oriented Programme
21594252456,

Question Number : 59 Question Id : 91394320983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafia & @ forad ameran el 1 3w gan 2 2
Options:

Taq foren
Q1E94=ZE24=55,

91334552424, R

91334552435, R

FIT IHE FrEwE
91394382436,

Question Number : 60 Question Id : 91394320984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following programmes was a more inclusive adult education programme ?

Options:

91394380457 bach One Teach One

National Adult Education Programme
91334352438,

National Literacy Mission Programme
913245352459,

Sarv Saksharata Abhiyan
91334552440,

Question Number : 60 Question Id : 91394320984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 @ sa-m sl sifts gamash g fian sefea o 2
Options:

Teies =4 feh U s4fe i
91394382437 e A



i st faren FrisEa

91394382438,
wsdta anertar firem FrfEn

91394382439,

91394382440, W T st

Question Number : 61 Question Id : 91394320985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Cascade method’ of training applied in adult education programmes flows in which of the
following formats ?

Options:

Master Trainers, Key Resource Persons, Resource Persons, Volunteer Instructors
9139423582441,

Resource Persons, Key Resource Persons, Master Trainers, Volunteer Instructors
Q13942582442

Master Trainers, Resource Persons, Key Resource Persons, Volunteer Instructors
91394382443,

Key Resource Persons, Resource Persons, Master Trainers, Volunteer Instructors
9123943582444,

Question Number : 61 Question Id : 91394320985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

o1304zm0dqy T w1 HEH WA UG, HaTe <fth, W A
91394382442, waTeA afth, Jed FHIEA St At o, Wieed e
91394382443, AT R, WIS, FEd Fares e, e 30T
91394380444, e Fary saft, T st At 97, Wit ST

Question Number : 62 Question Id : 91394320986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The purpose of establishing NCTE is



Options:

91394355445, for universalisation of Education

to improve the quality of Teacher Education
91334352446,

for empowerment of Teachers in India
91334552447,

to encourage Educational Research
913943824485,

Question Number : 62 Question Id : 91394320986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w.Ht. &g it uTaEr e T #

Options:

91334552445, Pt =

fneres farem <t wqoreen HAT
91394382446, R R

B91334552447. R ¥ Rt

Herfores e =t agran g
91394382448

Question Number : 63 Question Id : 91394320987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IPCL refers to
Options:

Speed of learnin
Q1294282449 8

Communication led learning

913294382450,

Process of learning
913345352451,

Purpose of learnin
91324552452, &

Question Number : 63 Question Id : 91394320987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



amrg. =t ue. o B
Options:
913943524493, e

91334582450,

91334582451,

Fftrm =51
91394382452,

Question Number : 64 Question Id : 91394320988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is a way of financial inclusion 7
Options:
Arogya
91394352453, By

91394382454, 92ndhan

Ujjwala
91394382455,

Antyodava
913942582456, tyoday

Question Number : 64 Question Id : 91394320988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafign & @ s fasfta T & ol 2 2

Options:

B913345852453.

913345852454,

91334582455,

91334582456,



Question Number : 65 Question Id : 91394320989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The Total Literacy Campaign relied on

Options:
amily based approach

91334352457,

Centre based approach
913324582458,

Volunteer based approach
912943524549,

Group learning based approach
91334382460, P g PP

Question Number : 65 Question Id : 91394320989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gegot anereat sifiram Frefafaa & @ fea sorm w2 2
Options:

91334552457, ®

Frg, TG IIOTH W
91394382458,

2915394252459, W

Twg sftpmm smaTfa Iumm W
91394382460,
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Correct Marks: 2 WrongMarks: 0

involves beliefs, practices and procedures based on thoughtless fear and

ignorance.
Options:
Anger
91394382461
91394382462, ToUvation
Senzibility

91334552463,



Superstition
91394382464,

Question Number : 66 Question Id : 91394320990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% forarcdta wa afi sremaan @ smafea amoomd, goond st wfskan wnfie gt &

Options:

91334582461, o

91334582462,

91334552463,

91334552464,

Question Number : 67 Question Id : 91394320991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following agencies recognised ‘Extension’ as the third dimension of higher
education in 1977 ?

Options:

B912334582465. NCERT

91334552466, IGNOU

B13345524E7. N

91334582468, vee

Question Number : 67 Question Id : 91394320991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freferfiaa & form weem 3 o #°t 1977 3 3= fen =01 qefta smam w&fte faea 2
Options:

g,
91394387465, L

B91334552466. #



91394382467, R

PRI
91394382468

Question Number : 68 Question Id : 91394320992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is a non-probability sampling method ?

Options:

Simple random sampling
215394252469,

Systematic samplin
F1394352470. y prng

Cluster sampling
91394352471,

uota samplin

215394352472 Q ping

Question Number : 68 Question Id : 91394320992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frferfiaa 3 & S-dh fafe f-dvregan dufem fafu 2 0
Options:
D1394252469,

2915334252470,

913345352471,

9133438247 %2. wa

Question Number : 69 Question Id : 91394320993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The statement about research you do nof agree with is
Options:

Resgearch contributes to social progress.
91394382473,



Research improves the quality of teaching.
Al13943252474, P d &4 &

Research has a crucial role in social planning.
913942352475,

Research is only a personal achievement.
21594252476,

Question Number : 69 Question Id : 91394320993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91334582473, o s R

91394382474, M Rerr 1 vt 3 R e

ity <t graTfaes Fatas o
91394382475. wEe g e R |
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91394382476,

Question Number : 70 Question Id : 91394320994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Experimental Research is based on
Options:
91594330477 Ideas of the scientists

91394380475 lunches of the scientists

91394382479, Scientific tools and methods

91394382450, Ceneral concerns

Question Number : 70 Question Id : 91394320994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



aanfeht = femm
91394382477,

ARl % e
91394382478,

s Ty A fafead
91394382479,

HHTT He
91334582480,

Question Number : 71 Question Id : 91394320995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Integral Humanism' concept was developed by
Options:

Sarvepalli Radhakrishnan
91394382451,

Rajendra Prasad
91334352452,

Atal Bihari Vajpayee
91324582453,

Deen Dayal Upadhya
Q13942582484 v P yay

Question Number : 71 Question Id : 91394320995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Uehied HiAEaTe i g feae fawfaa &t 2
Options:
HaTed! THTHH
91394382481

ECA

9133455245%2

FHed Tergrlt arerdt
91394382483,

T JUTETH
21594252454, ™

Sub-Section Number: 2
Sub-Section Id: 9139431109



Question Shuffling Allowed : Yes

Question Number : 72 Question Id : 91394320996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is the role of a planner in adult education ?
(i) To analyse the programme of learning

(ii) To set out the learning objectives
(iii) To organise the learning task

(iv) To encourage and motivate the learners

Choose the correct answer from the code given below :

Code :
Options:
(i) and (ii)
91942382455,

(ii) and (iii)
A1394252486.

(iii) and (iv)
Q13943252487

(1), (ii), (iii) and (iv)
B1334552488.

Question Number : 72 Question Id : 91394320996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

stg faren & Aiemmen 6t Frafafiaa & @ St yfsnd § 2
(i) ity wrdsn = favemo s

(i) ferma wet st Fuffa ser
(iii) At i w1 AR HET
(iv) Hha aret =t grearfga 3t ufe s

Y i o g # @ wd I A 9
% :

Options:

(i) 3 (id)
91394382485,

(ii) 31 (iid)
91394382486,

(i) 3 (iv)
913943824587,



(i), (ii), (iii) 3 (iv)
91394382488,

Question Number : 73 Question Id : 91394320997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Factors to be taken into consideration by the teacher in teaching adult learners are
(i) Learning is growth like and continuous

(ii) Learning is purposeful
(iii) Learning is fast and easy
(iv) Learning is a gradual process
Choose the correct answer from the code given below :
Code :
Options:

(ii) and (iii)
Q12943282459

(ii), (iii) and (iv)
Q12942582490

(iii) and (iv)
Q1394252491

(i), (ii) and (iv)
13345824392,

Question Number : 73 Question Id : 91394320997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hrad aret dtg & e % hm sreass g foe amat <6t s 8 @ s =i 2
(i) frm afg & wwm it gaq 2

(i) AfeTH T &

(i) @rferma e aft ama= 2

(iv) e ush i wfsen 2

3 Re e g # @ I R IR
C T

Options:

91394352459 (i 3R G

(i), (iii) 3 (iv)
913943252490,

(i) 3 (iv)
91394382491



(i), (ii) 3T (iv)
91394382492,

Question Number : 74 Question Id : 91394320998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Consequences of global warming are
(i) Climate change
(ii) Adverse effects on agricultural production
(iii) Fall in the mean sea-level
(iv) Large scale human migration
Choose the correct answer from the code given below :
Code :
Options:

(1), (i) and (iii)
913345824593,

(i), (ii) and (iv)
912345524594,

(ii), (iii) and (iv)
91294382495,

(1), (iii) and (iv)
91334582456,

Question Number : 74 Question Id : 91394320998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afversh amea & wfeorm §
(i) erary gfEda
(i) i Iearg o ol o
(iii) e |y T H firrae
(iv) o3 ¥9T T AT Wi
13 fiw e g & @ W I R TR
C T
Options:

(i), (i) 3T (iii)
91394352493,

(i), (ii) 3T (iv)
91394382494,

(i), (iii) #H (iv)
91394382495,



(i), (iii) 3 (iv)
91394382496,

Question Number : 75 Question Id : 91394320999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The distinct features of adult learners are
(i) Learns by imitation
(ii) Relies on experience, teacher and text books
(iii) Has his own priorities and purposes to learn

(iv) Relies on the text books only
Choose the correct answer from the code given below :

Code :
Options:

(i) and (ii)
13345824397,

(i), (ii) and (iii)
215942524595,

(iii) and (iv)
Q13943252499

(ii) and (iii)
A1394252500.

Question Number : 75 Question Id : 91394320999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e faremelf %1 gea @ @
(i) g & draad @
(i) 3rgwa, Frer sit wrea-geast w fnft e 2
(iii) Feht AT merfirepard s diem % vt g 2
(iv) e Trea-geasht o Fivft g 2

3 Ru T e # & wd Sw R TR
Hhe:

Options:

91334352437, 3 (i)

(i), (i) 3T (iii)
91394382498,

(iii) 3 (iv)
91394352499,



(ii) 31 (iid)
91394382500,

Question Number : 76 Question Id : 91394321000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the steps of Social Learning Theory as they occur :

(i) Remembering the behaviour
(ii) Converting the memory into action
(iii) Re-inforcement of the imitated behaviour

(iv) Attending to and perceiving the behaviour
Choose the correct answer from the code given below :
Code:
Options:
(iv), (1), (i1), (iid)

91334582501,

(iw), (i1), (iii), (i)
9133438250Z.

(iw), (1), (iii), (i)
91334582503,

(1), (iv), (ii), (i)
91334582504,

Question Number : 76 Question Id : 91394321000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt arferm fagra & =it 1 98 98 ufed 8 & sqaftaa fifw
(i) SHER I T FET

(ii) wgfer =t s 7 fora e
(iii) 3TTHd SHTER H TH: AN FEAT
(iv) =g W €= <A1 3R T

fre feu T = & | W I H g
He:
Options:
(iw), (i), (id), (iii)
91394382501.
(iw), (id), (iid), (i)
91394382502,

(iw), (1), (iii), (i)
H1334552503.



(1), (iv), (i), (1)
913345282504,

Question Number : 77 Question Id : 91394321001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are the characteristics of rural leader ?
(i) Awareness of group attitudes
(ii) Ability of abstract thinking
(iii) Ability of creating factions and forming groups on caste basis

(iv) Emotional ability
Choose the correct answer from the code given below :

Code :

Options:

(i), (ii) and (iv)
91294382505,

(i), (ii) and (iii)
9123942382506,

(ii), (iii) and (iv)
9123942382507,

(i), (iii) and (iv)
Q12942582508

Question Number : 77 Question Id : 91394321001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freifrfiaa § @ smetor e < Frdward & 2

(i) g vafrat i el

(i) reafe foam HA i T

(iii) =fer % STUR 9 dear FA R THE T4 6t FrEar
(iv) WTEATeHS Tl

3 fw e 5= A A @ IR T

% :
Options:

(1), (ii) 3T (iv)
91394382505,

(i), (i) T (iii)
91394382506,

(i), (iii) 3 (iv)
91394382507,



(i), (iii) 3 (iv)
91394382508,

Question Number : 78 Question Id : 91394321002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A good training programme should have the following characteristics :
(i) Extempore and not specifically planned
(ii) Active participation of trainer and trainees
(iii) Unstructured discussions

(iv) Opportunity for exchange of knowledge
Choose the correct answer from the code given below :

Code :
Options:

(i) and (ii)
291334582509,

(i), (ii) and (iii)
215394252510,

(i) and (iv)
913942582511,

(ii), (iii) and (iv)
B1334582512.

Question Number : 78 Question Id : 91394321002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= e wfsr § Freafofd fagard gt =ifeg
(i) form Qardt an fafdrse Gl foen Pritfor

(ii) e i Sfnegait 1 i st
(iii) reqafead ==i

(iv) M % HEGH-JGH HI TG

1 fiw e e & @ W I R TR

C T

Options:

(i) 31T (i)
91394382509,

(i), (i) 3T (iii)
91394382510,

(ii) 31 (iv)
91394382511,



(i), (iii) 3 (iv)
91394382512,

Question Number : 79 Question Id : 91394321003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The models suggested by UGC in the Ninth Five Year Plan were
(i) The Training Model
(ii) Community Research Model
(iii) Community Education Model

(iv) Ground Level Model
Choose the correct answer from the code given below :

Code :
Options:

(i) and (iii)
B91334582513.

(i) and (iv)
Gl12a42582514.

(1), (ii), (iii) and (iv)
Q1294282515

(ii) and (iii)
Q13942582516

Question Number : 79 Question Id : 91394321003 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aeft qeandfa s 4 favafaemes s smam g geme o Aiee @
(i) wfyeror wige

(i) ETHETRe Wiy wied

(iti) wmgeTRren e wiew

(iv) wit & Aige

% Ry o g # @ 7@ SwR SR

% :
Options:

(i) 3T (iii)
91394382513

(ii) 31 (iv)
91394382514,

(i), (id), (iii) 21 (iv)
91394382515,



(ii) 31 (iid)
91394382516,

Question Number : 80 Question Id : 91394321004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Measures of Central Tendency are
(i) Mode
(ii) Correlation
(iii) Mean
(iv) Median
Choose the correct answer from the code given below :

Code :
Options:

(1), (iii) and (iv)
91394382817,

(ii) and (iv)
91394332518,

(1) and (i)
Q1294282519

(i) and (ii)
A1394252520.

Question Number : 80 Question Id : 91394321004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g Sgfti o w19 &
(i) wEeh
(i) HgHag
(i) #TET
(iv) HrfErH
fre few o g2 & & wdt I w9
% :
Options:
91394382517 D, (i) 3 ()
2130438251, W M)
(ii) 3 (iii)

913345382519,



(i) 3 (i)
91394382520,

Question Number : 81 Question Id : 91394321005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are associated with NRHM ?
(i) ASHA

(i) ANM
(iii) SHG

(iv) Prerak
Choose the correct answer from the code given below :

Code :

Options:

(1) and (iii)
W1Z94282E21.

(1) and (i)
91394382522

(i), (ii) and (iii)
91Z94382523.

(ii) and (iv)
Q13942582524

Question Number : 81 Question Id : 91394321005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafiaa # & - w.am va . & gafia § 2
(1) #Em
(i) T.UA.UH.
(iii) wE.w= S,
(iv) 3
3 e e g § @ W SR IR
% :
Options:

(i) 3T (iii)
91394382521,

(i) 3 (ii)
91394382522,

(i), (i) T (iii)
91394382523,



(ii) 31 (iv)
91394352524,

Question Number : 82 Question Id : 91394321006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which are the steps in scientific study ?
(i) Observation
(ii) Classification
(iii) Verification
(iv) Generalization
Choose the correct answer from the code given below :

Code :

Options:

(1), (i), (iii) and (iv)
91394382528,

(i) and (ii)
B91334582526.

(1ii) and (iv)
91394382527,

(ii) and (iii)
A1394252528.

Question Number : 82 Question Id : 91394321006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e 37 & =0T BB H § ?
(i) et
(i) Feffetor
(i) HeATIH
(iv) AR R
fre few o g2 & & wdt I w9
% :
Options:
o15043m0sps (1 (i G A (iv)
91394332526, 3 i)
(iii) 3 (iv)

B13345382527.



(ii) 31 (iid)
91394352528,

Question Number : 83 Question Id : 91394321007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which were the working groups for mid-term review of PERCS ?
(i) Curriculum Development and Training
(ii) Learning Materials
(iii) Monitoring, Evaluation and Research

(iv) Advisory Committee
Choose the correct answer from the code given below :

Code :
Options:

(1), (i) and (iii)
B1334582529.

(1), (ii), (iii) and (iv)
Q1294252520

(ii), (iii) and (iv)
91334582521,

(1), (iii) and (iv)
91334582532,

Question Number : 83 Question Id : 91394321007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

.33 ot um. fit wearafy witean % fou w6 @ FE-a 9 2
(i) wrErsRa fasra 3ttt ufdnem

(i) st wmmfiat

(iii) Frmrt, e oftt oy

(iv) Temgehr afufa

#r= few me 52 & & T I w g

He:
Options:

(i), (i) 3T (iii)
91394382529,

(i), (id), (iii) 31T (iv)
91394382530,

(i), (iii) #MH (iv)
91394382531



(i), (iii) 3 (iv)
91394382532,

Question Number : 84 Question Id : 91394321008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Professionalizsation of adult, continuing education and extension can be achieved by which
of the following processes 7

(i) Specialized training

(ii) Creating a specialized knowledge base

(iii) Ineclusion of professionals from other areas

(iv) A good curriculum for off-the-job training
Choose the correct answer from the code given below :

Code :
Options:

(1), (i) and (iii)
91334582533,

(ii), (iii) and (iv)
91334582534,

(i), (iil) and (iv)
91334582535,

(i), (ii) and (iv)
912943825356,

Question Number : 84 Question Id : 91394321008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

stg, Haq Fen it faeam &1 sqaarfie Frafafaa & 2 fea wfEn g s e st asar 2 2
(i) fainfrara wfiremo

(i) e fafime s smam s

(iii) =4 &= ¥ sqaarit &1 g

(iv) wr-qd gfie 8 O sres1 TS

= fiw mu 52 4 & ot I W g

% :
Options:

(1), (i) 31 (iid)
91394382533,

(i), (iii) 3 (iv)
91394382534,



(), (iii) 371 (iv)
91394382535,

(1), (i) 31 (iv)
91394382536,

Question Number : 85 Question Id : 91394321009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The most populated Metros are
(1) Mumbai
(ii) Puducherry
(iii) Delhi

(iv) Kolkata
Choose the correct answer from the code given below :

Code :
Options:

(1), (iii) and (iv)
91394282837,

(ii), (iii) and (iv)
91394282838,

(ii) and (iii)
Q1394258253 9.

(i) and (iv)
91394382540,

Question Number : 85 Question Id : 91394321009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gaffue SEE a6t wE §
(i) Hrad
(i) g
(iii) faeeft
(iv) “hieTshral
Hr= R mu 52 & & Tt I+ g
% :
Options:

(), (iii) 371 (iv)
91394382537,

(id), (i) 3 (iv)
91394382538,



(i) =¥ (iii)
91394382539,

(ii) ¥ (iv)
91394382540,

Question Number : 86 Question Id : 91394321010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Features of Swachh Bharat Mission are
(i) To make India 100% open defecation free by 2019
(ii) Focus only on urban areas
(iii) Focus on attitudinal change

(iv) Eradication of manual scavenging

Choose the correct answer from the code given below :

Code :

Options:

(1), (iii) and (iv)
Q1=294282541

(i) and (iv)
A1=294252542,

(ii) and (iii)
Q1294382543

(1) and (ii)
Q1294252544

Question Number : 86 Question Id : 91394321010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

taes i faem i fasand §
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% :
Options:

(), (iii) 31 (iv)
91394382541

(ii) 31 (iv)
91394382542,



(ii) 31T (iii)
91394352543,

(i) 3 (i)
91394382544,

Question Number : 87 Question Id : 91394321011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are effective devices to motivate learners ?
(i) Disciplinary actions
(ii) Rewards
(iii) Punishments

(iv) Pressure tactics
Choose the correct answer from the code given below :

Code :
Options:

(i), (ii) and (iv)
912334582545,

(1) and (ii)
Q1394252546

(ii) and (iii)
Q1=294382547.

(iii) and (iv)
A1=294252548.

Question Number : 87 Question Id : 91394321011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i arat =t Sreafea # & Frfefiga 9 o waredh aram #9-8 § 2
(i) FFAEATHS Hrfarat

(1) JUERR

(iii) g8
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% :
Options:

(i), (ii) 3T (iv)
91394382545,

(i) 3 (id)
91394382546,



(i) 37 (iii)

21394252547,
(iii) 31 (iv)
213942582548,
Sub-Section Number : 3
Sub-Section 1d: 9139431110
Question Shuffling Allowed : Yes

Question Number : 88 Question Id : 91394321012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Diversity among illiterate people of India reduces the chance of success of
adult education programmes.

Reason (R):  Focused programmes do not permit usage of multipronged strategies of
implementation.

Code:
Options:

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
915394352549,

(A) is correct, but (R) is wrong.
91334582550,

{A) is wrong, but (R) is correct.
Q1594282551

Both (A) and (R) are correct and (R) is the correct explanation of (A).
21594252552,

Question Number : 88 Question Id : 91394321012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) T& B, 9 (R) Terd & |
91394382550,

(A) T B, (R)T&E 2|
Q1394282551 "T{ﬁ

(A) 3 (R) q9T (R), (A) i 98t =amean & |
91394382552, i wd & e &

Question Number : 89 Question Id : 91394321013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : All examinations up to standard V be abolished.
HReason (R):  Children should not be burdened with such examinations which hamper

their natural growth.
Code :
Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A).
913943525535,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
Q1594282554

(A) iz wrong, but (R) is correct.
215394252555,

(A) is correct, but (R) is wrong.
91334352556,

Question Number : 89 Question Id : 91394321013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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91394382553, i § w &

(A) 3 (R) 391 9t €, 70 (R), (A) 1 9t samem T R |
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(A) T &, Wg (R) @&t 2 |
91394382555,

(A) TH B, (R) Terd & |
Q1394282556 m

Question Number : 90 Question Id : 91394321014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : An indicator of excellence is the extent to which higher education institutions
play a central role in the life of community.

Heason (R): A key function of higher education is to promote the value of civilised society
and to promote social mobility and social justice.

Code:
Options:
(A) is correct, but (R) is wrong.
91394352557,
{A) is wrong, but (R) is correct.
91394352558,
Both (A) and (R) are correct and (R) is the correct explanation of (A).
215394252559,
Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91594382560,

Question Number : 90 Question Id : 91394321014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(A) # (R) q9T (R), (A) i wat sgrean § |
913943825549, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394382560,
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Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Motivation does not influence a person to do a thing in a certain way.

Reason (R):  Motivation is a process of initiating a conscious and purposeful action.

Code:
Options:

(A) is correct, but (R) is wrong.
91394252561,

Both (A) and (R) are correct.
Q139432582562

(A) is wrong, but (R) is correct.
Q1294382563

Both (A) and (R) are wrong.
91394252564,

Question Number : 91 Question Id : 91394321015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Analysis of data is the most skilled task of all the stages of the research.
Heason (R):  Analysis of data is a task calling for the researcher’s own judgment and skill.

Code :
Options:

(A) is correct, but (R) is wrong.
215394352565,

(A) iz wrong, but (R) is correct.
21594252566,

Both (A) and (R) are correct.
A1394282567.

Both (A) and (R) are wrong.
21394282568,
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Question Number : 93 Question Id : 91394321017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : High mortality rate among infants oecurs due to inadequate care.

HReason (R):  Infant mortality rate is an indicator of human development.

Code :
Options:

Both (A) and (R) are wrong.
913942352569,

(A) is wrong, but (R) is correct.
Q1=2943282570.

(A) is correct, but (R) is wrong.
91394252571,

Both (A) and (R) are correct.
Q1394282572

Question Number : 93 Question Id : 91394321017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : It is not sex but gender that has been accepted as a form of social
stratification.

HReason (R):  Women are biologically not equal to men.

Code :
Options:

{A) is wrong, but (R) is correct.
Q1594282573

(A) is correct, but (R) is wrong.
215394252574

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
91394382575,

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394352576,

Question Number : 94 Question Id : 91394321018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Motivation is important in the process of teaching and learning.

Reason (R):  Motivation is attraction towards a goal and clarifies its meaning.

Code :
Options:

(A) is correct, but (R) iz wrong.
Q1294382577

(A) iz wrong, but (R) is correct.
91394252575,

Both (A) and (R) are wrong.
91394352579

Both (A) and (R) are correct.
Q1394325 2580.

Question Number : 95 Question Id : 91394321019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Training focuses more on acquisition of skills.

Reason (R):  One gains knowledge and understanding by training.

Code :
Options:

(A) is correct, but (R) iz wrong.
Q12942382581

(A) iz wrong, but (R) is correct.
91394252582,

Both (A) and (R) are correct.
913942582582,

Both (A) and (R) are wrong.
21394282584,

Question Number : 96 Question Id : 91394321020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Maternal mortality rate is not merely a health disadvantage, but it is a

matter of social injustice.
Reason (R) : Low socio-economic status of women is one of the causes of maternal
mortality.
Code :
Options:

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
Q91394282585

Both (A) and (R) are correct and (R) is the correct explanation of (A).
913942352586,

(A) is correct, but (R) is wrong.
1394352587,

(A) is wrong, but (R) is correct.
91394252588,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Education should be made compulsory for all children up to the age of 14.
Reason (R):  Education improves the standard of living.

Code :
Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A).
21394282589,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
9153943525490,

(A) is wrong, but (R) is correct.
Q1594282591

(A) is correct, but (R) is wrong.
91394352592,

Question Number : 98 Question Id : 91394321022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Educational and research institutions should think locally and act globally.

Reason (R):  Lab to land programme aims at application of institutional expertize and
resources at field level.

Code :
Options:

(A) is correct, but (R) is wrong.
313943525595,

Both (A) and (R) are correct.
Q1394252594

Both (A) and (R) are wrong.
91394352595,

(R) is correct, but (A) is wrong and (R) is not the correct explanation of (A).
913942352596,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Functional literacy is to make learning relevant to living and working.

Reason (R):  Functionality provides skill improvement leading to employment.

Code :
Options:

(A) is correct, but (R) iz wrong.
Q1294382597

(A) iz wrong, but (R) is correct.
91394252598,

Both (A) and (R) are correct.
Gl13a4252599,

Both (A) and (R) are wrong.
21394282600,

Question Number : 100 Question Id : 91394321024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Level-1 of equivalency programme is equal to class-3 of formal system of
education.

HReason (R):  Neo-literates cannot be equated with the students of formal system of
education.

Code :
Options:

(A) is correct, but (R) is wrong.
913345352601,

{A) is wrong, but (R) is correct.
Q1594282602

Both (A) and (R) are correct.
Q1394252603

Both (A) and (R) are wrong.
91394352604,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In pedagogic approach the education always uses one-way communication
for imparting knowledge and skills.

HReason (R):  Experience of the adult is valued as the primary resource person.

Code :
Options:

Both (A) and (R) are correct.
Q13943282605

(A) iz wrong, but (R) is correct.
21594252606,

Both (A) and (R) are wrong.
91394352607,

(A) is correct, but (R) is wrong.
91394352608,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Concurrent triangulation research design involves both quantitative and
qualitative phases.

HReason (R):  In this research the quantitative phase follows qualitative phase.

Code :
Options:

Both (A) and (R) are wrong.
913942352609,

Both (A) and (R) are correct.
A1394252E10,

(A) is correct, but (R) is wrong.
91334552611,

{A) is wrong, but (R) is correct.
Q1594382612
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Categorical variables are qualitative data in which values are assigned to a
set of distinct groups or categories.

Heason (R): Categorical variables often provide valuable social-oriented information that
is not qualitative by nature.

Code :
Options:

Both (A) and (R) are correct.
Gl1394282612.

Both (A) and (R) are wrong.
21394252614,

(A) is correct, but (R) is wrong.
21594252615,

(A) iz wrong, but (R) is correct.
91594282616,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : National Literacy Mission initiated with the goal of making 80 million adults
literate by the year 1995.

Reason (R): NLM is the administrative set-up for the effective planning, organisation and
evaluation of all forms of education programmes in India.

Code :
Options:

Both (A) and (R) are correct.
G1394282617.

Both (A) and (R) are wrong.
21394282618,

(A) is correct, but (R) is wrong.
21594252619,

(A) iz wrong, but (R) is correct.
1394282620,
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Population increase coupled with depleting resources has been impeding the
development of India.

HReason (R): Education speeds up development

Code :
Options:

Both (A) and (R) are wrong.
91394352621,

Both (A) and (R) are correct and (R) is the correct explanation of (A).
21394282622,

(A) is correct, but (R) is wrong.
1394252623,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
Q1594282624

Question Number : 106 Question 1d : 91394321030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A= gt o fog e 8, f @ o atfirem (A) R oft qgu 9% (R) @ | e 0t afen ofl e feg e
2 WA FHd I g |
sfirre (A) :  92d HHIGH! & 919 9gd! FEET Yid & e d as @ d ® E |

@& (R) : Farem farerra it o et 2
%he :

Options:

1394382621, ¥ afi (R) 1 e # |

(A) 3 (R) 9T (R), (A) 1 Tt =arean # |
91394382622, = § w &

(A) @& &, T0d (R) Terd & |
91394382623,

(A) 3ft (R) ST =&t &, T (R), (A) i Tt samen 78 & |
91394382624,

Question Number : 107 Question Id : 91394321031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Indian society has regarded knowledge as the highest virtue of man.

Reason (R):  Creation of ‘knowledge-society’ can be possible only with the help of formal
education.

Code :
Options:

(A) is correct, but (R) is wrong.
91394352625,

(A) is wrong, but (R) is correct.
1294382626,

Both (A) and (R) are correct.
Q13943282627

Both (A) and (R) are wrong.
91394352628,

Question Number : 107 Question 1d : 91394321031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr= 3w fon o B, i & o i (A) R 3 g@0 96 (R) 8 | Sl i afen sft e few o
e &1 T4 F T I g |

Sy (A) ;WA |aTS S4fh & T % I Gad 3 701 7T R |

ah (R) : T AT g Faet sitearies fien i weraa A & dva 8w |
Hhe:
Options:
(A) T 2, T (R) Teid 2 |
91394382625, e, !
(A) Ted &, (R) |
91394382626, AL
91304382627, A I TATAE
91394382625, N AT wRE

Question Number : 108 Question Id : 91394321032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Education for adults is a matter of primary interest.

Reason (R):  Education is not a primary concern of adults.

Code :

Options:

(A) is correct, but (R) iz wrong.
Q15924382629

(A) iz wrong, but (R) is correct.
D1394=382630.

Both (A) and (R) are correct.
9194382631,

Both (A) and (R) are wrong.
Q1594382632

Question Number : 108 Question Id : 91394321032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A= 3t e fon e B, T & o arfirme (A) @ i g@n a6 (R) @ | Sl i afen sfi e few o
Fe & TE F T I g |
sty (A) - g =aferai o fore fen snufirs =fa o fama 2

T (R) : Farem st saftra = forg wafies fear =i 2

He:
Options:

(A) & 2, 9tg (R) Teid 2 |
91394382629,

(A) TeTd &, 9 (R) T8 2 |
91394382630.

(A) A (R |
1394382631, 7 )T 7 @

(A) 3t (R Terd & |
13943826832, ¥ )3l g

Question Number : 109 Question 1d : 91394321033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Single strategy for adult teaching-learning cannot be effective.
Reason (R):  Adult learners are a heterogeneous group and have diversified learning
goals.

Code :
Options:

(A) is correct, but (R) is wrong.
31394352633,

(A) is wrong, but (R) is correct.
Q1294382654

Both (A) and (R) are wrong.
91394252635,

Both (A) and (R) are correct and (R) is the correct explanation of (A).
91394352636,

Question Number : 109 Question Id : 91394321033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fr= 3t s fu e 8, fomd & us e (A) @ 3 g@0 7% (R) B | el =it wfge ot = fag mo
2 WA FHd I g |
sfirpeT (A) - e Tieror stfirma o fore g vt g3 et & &t w7

7% (R) : dras aret v faerdta aqg 3 8@ & oft 399 stem-arem i we B § |
%he :

Options:

(A) T& B, 9 (R) Terd & |
91394382633,

(A) T B, (R)T&E 2|
Q1E4ZEZEE4, "T{ﬁ

A) (R Ted & |
91394382635, @) 3R (R) T g

(A) # (R) q9T (R), (A) i wat sgrean § |
91394382636, T wd ¢

Question Number : 110 Question Id : 91394321034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The adult educator should try to pay individual attention to each learner in
a group.

HReason (R):  The adult educator should not keep in view the individual differences of
adult learners.

Code :
Options:

Both (A) and (R) are correct.
Q1394282637

Both (A) and (R) are wrong.
21394282638,

Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
215942526359,

(A) is correct, but (R) is wrong.
91334552640,

Question Number : 110 Question Id : 91394321034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= 31w feu e 8, o & us stfirem (A) @ 3 g@0 7% (R) B | el =t afge ol = fag mo
e AT F T I g |
sfipeT (A) :  Wig T it ot g & e dffes et wes safs s sv g am A =
ST A =Ry |

@ (R) : ttg frere ot diae aret Tigl & safwra afad it e 8 78w =R )
e

Options:

A) (R I
91394382637, (&) 3R (R) T T §

A) (R Ted 8 |
91394382638, @ 3R (R T g

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394382639,

(A) @& &, T0d (R) Terd & |
91394382640,

Sub-Section Number: 4
Sub-Section 1d: 9139431111
Question Shuffling Allowed : Yes



Question Number : 111 Question Id : 91394321035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) The National Institute for the (i) Secunderabad
Visually Handicapped
(b) The National Institute for the (ii) Dehradun
Mentally Handicapped
(e) The National Institute for the (iii) Kolkata
Orthopaedically Handicapped
(d) The Ali Yawar Jung National Institute (iv) Mumbai
of Hearing Handicapped
Code :
Options:
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91:94252641.
(a)=(ii), (b)—(1), (e)—(iii), (d)—(iv)
D1Z94382642.
(a)—(i), (b)—(ii), (e)—iv), (d)—(iii)
A1:94382645.
(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
15924382644,

Question Number : 111 Question Id ;: 91394321035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t =t 118 gafea i ot = fqe me g 9 9 adt 39t 9fm .

T T
(a) Teéra gfeearfea deum (i) forhrgtErg
(b) Tt AR sigan Hea= (i) TEU
() Tt arfeufasfa geum (iii) shfeTehraT
(d) STeft FTa S TS Ha (iv) Hearg

. 3reher deama
% :

Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)

91394382641,

(@)—(ii), (b)~(1), (e)—(iii), (d)~(iv)

91394382642

(a)—(i), (b)—ii), (e)—(iv), (d)—(iii)
91234282643,



(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91234282644,

Question Number : 112 Question Id : 91394321036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 1T and choose the correct answer from the code given below :

ListI List I1
(a) Mumbai (i)  Fourth most populated metro
(b) Delhi (ii) Third most populated metro

(c) Kolkata (iii) Second most populated metro
(d) Chennai (iv) First most populated metro

Code :
Options:

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394382645,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
H9123455264E6,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334382647,

(a)—(iii), (b)—(1), (e)-{ii), (d)-iv)
91234282648,

Question Number : 112 Question Id : 91394321036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1%t gt 11 & gafea fifsn it = fge o $e 4 9 a8 33+t g

1 T 11
(a) Hrr () e gt SEE 9T TR
() Feeeh (i) e gatfus sEen T T
() FEHN (i) G A TN A T
(d) =g P I G ——
He:
Options:
91394380645 2V (b)), ()i, (d)~(D)
1394352645, @B B-(iD, (e)~(iid), (d)—iv)

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91234552647,



(a)—(iii), (b)—(1), (e)-{ii), (d)~(iv)
91234282648,

Question Number : 113 Question Id : 91394321037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following pairs is not correctly matched ?

Options:

Institutions prepare a summary based on accreditor standards — Promotion
91334252643,

Faculty and administrative peers review self-study — Find fault
913942352650,

Volunteer r team visits institution or programme — Self-stud,
Q13943282651 pee P v

Accrediting organisation commissions affirm, reaffirm or deny institution or programme —

Gain knowledge
Q1394382652 edg

Question Number : 113 Question Id : 91394321037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freferfiga @ @ S=-a1 gm gifera 787 & 2
Options:

91394382649, WIHI < IR T HEAH Th FOA IR Fll & — e

Herra YT TGS TEant Sen sveaas i weiten wid § — I e
91294382650,

0130435065, A AEANTt 7@ HeArl A Frig F A F § - F-H0wH

TeqTE A arer Heq Rt weum o wrElwe i gfee, gogfee o wems e @ R R | - e

91334552652, rd

Question Number : 114 Question Id : 91394321038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following pairs is not correctly matched ?

Options:

Learning must be — Satisfying and meaningful
Q1=294252E852, 8 ying g‘f



Learning environment should be — Friendly
91394352654,

Learning progress must be constantly — Appraised
Q13942582655 8P Y PP

Recognition of achievement should be — Avoided
21594282656,

Question Number : 114 Question Id : 91394321038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frfefaa d & 19w gm gifaa 78 2 7

Options:

91394382653, sAfema g e — Fdy 3 aren iR A

s wfa g =nfin — A

H1334552654.

91394382655, STl 1 R ot T e — 7

Ivafer i 7= @ — "= Tifee
913943582656,

Question Number : 115 Question Id : 91394321039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List 1T and choose the correct answer from the code given below :

List I List I1
(a) Folk media (i) Personal visit and meeting
(b) Traditional media (ii) Kala Jathas
(¢) Print media (iii) Television

(d) Electronic media (iv) Newspaper

Code :
Options:

(a)—(iii), (b)—(i), (e)-liv), (d)—(ii)
91234282657,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
H1334552655.

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334382659,



(a)—(1), (b)(iii), (e)—{ii), (d)~(iv)
91234282660,

Question Number : 115 Question Id : 91394321039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t gt 11 & gitfer ifs o = e o e 4 @ ot s+t g
1 et I

(a) @i e (i) eufra g ofit daw

(b) wtatrra ifgan (i) en e

() fie ifem (i) eftfers

(d) geraere difgm  (iv) GoER-T

He:
Options:

(a)—(iii), (b)—~(1), (e)—iv), (d)—(ii)
91334382657,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91534282658,

(a)—(i), (b)ii), (e)—(iii), (d)-iv)
91594382659,

(a)—(1), (b)(iii), (e)—{ii), (d)—(iv)
913234282660,

Question Number : 116 Question Id : 91394321040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List I1

(a) Night School (i) Behavioural change
(b) NAEP (ii) Mass approach
() TLC (ili) Awareness
(d) NLM (iv) Literacy
Code:
Options:

(a)—(iii), (b)—(i), (e)~(iv), (d)—(ii)
91394352661,

(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
91394352662,

(a)—(ii), (b)—(iii), (e)—iv), (d)—(i)
H13345526E63.



(a)—{iv), (b)id), (e)—(i), (d)—iii)
91394382664,

Question Number : 116 Question Id : 91394321040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gafea Fifsw ot = fge 7o 52 4 9 a8 s+t 9w

gt 1 Tt I

(a) T foemem (i) =g gfEda
(b) TA.U.3., (i) =4T9h ITTH
(c) d1.usAH (iii) FTEhRdl
(d) UA.ue, U, (iv) HTETaT
% :
Options:

(a)—(iii), (b)~({1), (e)—(iv), (d)—(ii)
91394382661

(a)—(1), (b)—(ii), (e)—(iii), (d)—{iv)
91394382662,

(a)—ii), (b)—(iii), (e)—(iv), (d)~(1)
91394382663,

(a)—(iv), (b)), (e)~(i), (d)—iii)
91394382664,

Question Number : 117 Question Id : 91394321041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Universal Declaration of Human Rights (i) 1948

(b) The World Conference of the International (ii) 1995
Women's Year was held in Mexico City

(e) United Nations Decade for Women (iii) 1976 — 85
(d) The Fourth World Conference on Women  (iv) 1975
was held in Beijing
Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91594382665,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
915234252666,



(a)—ii), (b)—(iv), (e)-(iil), (d)~1)
91534382667,

(a)—i), (b)—(iv), (e)-{iii), (d)—(ii)
91534282668,

Question Number : 117 Question 1d : 91394321041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1t et 118 gafe i ot = fge me g 4 o adt st 9fm
1 gl

(a) wHaTRA %1 SfFas weores (i) 1948

(b) -auidha afgen o %1 fava adem (i) 1995
AfFaet =T gan

(c) HYH g wfgen o (iii) 1976 — 85

(d) e fava ufgen adem =1 @A (iv) 1975
fifs F gam

He:
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334382665,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91394382666,

(a)-ii), (b)—(iv), (e)-(iil), (d)—~(1)
91594382667,

(a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
91524252668,

Question Number : 118 Question Id : 91394321042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) Gandhi (i) Universal Man
(b) Vivekanand (ii) My Experiments With Truth
(e) Tagore (iii) Savitri
(d) Aurcbindo {iv) Practical Vedanta
Code :
Options:

(a)(iii), (b)—(iv), (e)-(i), (d)—(ii)
91534282669,



(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91334282670,

(a)—ii), (b)—(iv), (e)-iil), (d)—~1)
91234282671,

(a)iv), (b)—(iii), (e)—i), (d)—(ii)
B1334582672.

Question Number : 118 Question Id : 91394321042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t gt 11 & gafaa Fifsw it = fge o ge 4 9 ad 33+t 9fe .

1 T 1T

(a) it (i) gfada i
(by faaewez (i) wd wweaiie fag gw
(e) @miT (iii) @rfesft
(dy awfeeer (iv) fFesa agm
E:
Options:

(a)—{iii), (b)—(iv), (e)—{i), (d)—(ii)
91394382669,

(a)—{iD), (b)—(iv), (e)—(1), (d)—(iii)
91394382670,

(a)—{il), (b)—(iv), (e}—(iil), (d)—(1)
91394382671,

(a)—{iv), (b)—(iil), (e)—{i), (d)—(ii)
91394382672,

Question Number : 119 Question 1d : 91394321043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mateh List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) Andragogy (i) Maleolm Knowles
(b) De-Schooling (ii)  Ivan Illich
(e) Each One Teach One (iii) Frank C. Laubach
(d) NaiTalim (iv) Mahatma Gandhi
Code :
Options:

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
H1334582673.



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334382674,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394382675,

(a)iv), (b)—(i), (e)(iii), (d)—(ii)
H1334582676,

Question Number : 119 Question Id : 91394321043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1%t gt 11 & gafaa Fifsw it = fge o ge 4 9 ad 33+t 9fe .
gl qE 11

(a) UUZHTHSH (i) HiehE ded

(b) & wpfem (i) 3EH 3o

(¢) g@aAdaad (i) Wi ot @ag

(d) 7§ qrefs (iv) wEren Tt

®e:
Options:

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394382673,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91524282674,

(a)—(iv), (b)—~(1), (e)—{ii), (d)—(iii)
91334282675,

(a)iv), (b)—(1), (e)-{iid), (d)—(ii)
91394382676,

Question Number : 120 Question 1d : 91394321044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following pairs is not correctly matched ?

Options:

Universalisation of elementary education — BPL families
1394352677,

ICDS — Children in the age group of 6 — 14 years
21394282678, age group y

Anganwadi scheme — Pre-school children
21594252679,



Ujjwala scheme — Child and mother
91394352680,

Question Number : 120 Question Id : 91394321044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafaa 4 & s gm gifaa a8 2 2

Options:

et e =1 Sveftero — &t . ue, ofmn
91394382677,

FEH& o -6 - 149 F ag 1 Fa=
91394382678,

HATHETE! FrorT — T-The o=
91394282679, =

91394382680 e R — sfrwt

Question Number : 121 Question Id : 91394321045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(Types of learning) (Proposed by Scientist)
(a) Learned through connection (i) Parton
(b) Discriminated operation (ii) Kimble
(¢) Sometimes called instrumental response (iii) Thorndike
(d) Conditional learning (iv) Skinner
Code:
Options:
(a)—(ii), (b)—(iii), (e)—~(1), (d)~iv)
1594382651,
(a)—1), (b)—(ii), (e)—(iv), (d)—(iii)
91394352682,
(a)—(iii), (b)—(iv), (e)ii), (d)—D)
21394282683,
(a)—iv), (b)—(1), (e)(ii), (d)—(iii)
213942526584,

Question Number : 121 Question Id : 91394321045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1=t gt 11 & gafaa Fifsw it i fge 7o 5e 4 9 a8 33+t gfe .

LSl Tt I
(arferme 3 wem) (Frmfes e g e < o)
(a) TaY % "req & Hi@n mn (i) 9
(b) werarayet wfsea (ii) fopwaret
(c) Feft-eft wavargyl =T S STen wegE (i) ¥HeTEE
(d) wfeaeft sferm (iv) fer
% :
Options:
(a)(i), (b)—(iii), (e)—(1), (d)—(iv)
9139438268 1.
(a)—(i), (b)—(ii), (e)—(iv), (d)—iii)
91394382682,
(a)—(iii), (b)—(iv), (e)—(id), (d)—(1)
91394382683,
(a)—(iv), (b)—(i), (e)—(ii), (d)—(iii)
91394382684,

Question Number : 122 Question Id : 91394321046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following pairs is not correctly matched ?

Options:

9139438 7ESE, NAEP — Student Volunteer

91394382656, IoN — Prerak

91394380687, 1L~ Instructor

NSS — Literacy Volunteer
21394282688,

Question Number : 122 Question Id : 91394321046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freafafiga 3 & S gm gifaa a8 2 2

Options:

3. - et wades
91394382685, LS



W.0H. T, — W

91394382686,

w0 U, - AT
91394382687,

UH.UH, — & Eadah
91394387688, ...

Question Number : 123 Question Id : 91394321047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Standard deviation (i) =

(b) Correlation (ii) }.'2
(e) Chi-square (iii) r
(d) Equal (iv) @
Code :
Options:
(a)—(iii), (b)—(ii), (e)—(i), (d)—(iv)
91394382689,
(a)—iv), (b)—(iii), (e)-(ii), (d)—i)
9123942382690,
(a)—(ii), (b)—(1), (e)—(iv), (d)—(iii)
Q1=294258269]1 .
(a)—1), (h)—(ii), (e)-{(iii), (d)—(iv)
91394382692,

Question Number : 123 Question Id : 91394321047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1=t gt 11 & gafea Fifsw ot = fge 7o 52 4 9 a8 s+t 9w

T 1 et I
(a) s famem () =
(b) HrHay (i) 2
() HTS-TehaTal (iii) r
(d) FHH iv) o
C T

Options:



(a)—iii), (h)—(ii), (e)~i), (d)-iv)

91394382689,

(a)—iv), (b)—(iii), (e)—(ii), (d)—1)
9123942382690,

(a)—ii), (b)—i), (e)—(iv), (d)—(iii)
913942382691,

(a)—i), (b)—=(ii), (e)—(iii), (di—(iv)
1294382692,

Question Number : 124 Question Id : 91394321048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following pairs is net correctly matched ?

Options:

91394332603, e work - Data collection

Pilot study — Item analysis
91334352694,

Review of literature — Experimental work
H91334552635.

Analysis of data — Statistical work
1334252636,

Question Number : 124 Question Id : 91394321048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafeafiaa 4 & - gm gifaa a8 2 2

Options:

Fies S — Alhg GUET
91394382693, i

drenfires sterm — we fagemm
91394382694,

aifie Tt — s F

91334552635,

Hiwmel favermn — aifesdhm =l
913942826896,

Question Number : 125 Question Id : 91394321049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List IT and choose the correct answer from the code given below :
List I List IT

(a) Trainees dominated method (i) Lecture, Counselling

(b) Trainer dominated method (ii) Survey, Questionnaire

(¢) Co-operative method (iii) Skill development through instruction

(d) Functional method (iv) Group discussion, Seminar

Code :
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91534282637,

(a)—(i), (b)—(iii), (e)-ii), (d)~(iv)
91234282638,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
H1234552699.

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334282700,

Question Number : 125 Question Id : 91394321049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1 &t gt 11 & gafea fifsw ot = g 7o ge 4 9 a8 @+t g
A 1 et I
(a) ofirg wom f&fer () =amEEm, S
(b) wftneres s fafer (i) wdao, gwrach
(c) Hearit fafer (iii) fiveror % wrem & F
(d) wrafeass fafs (iv) o ==, afimm

ESE
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91324252637,

(a)—(1), (b)(iii), (e)—{ii), (d)~(iv)
91534282638,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234282639,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
91334582700,

Question Number : 126 Question Id : 91394321050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following pairs is not correctly matched ?

Options:

Equivalen rogramme — Education for drop-outs
Q1394252701 q P P

uality of life improvement programme — Consumer’s rights awareness
Q1=Z94252702, Q v P P ne

Income generating programme — Vocational trainin
91394282703, 8 gp g

Individual interest promotion programme — Health awareness programme
Q139432582704 P P P

Question Number : 126 Question Id : 91394321050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freafafiga 3 & S gm gifaa a8 2 2

Options:

qeeran (sfraacrdt) wrdswn — faares srgarat & for fren
91394382701

Sitae TuraEn FlsRn — IR ST STERT
91394382702 Rl

T G A — saTaETiieh S
91394382703

st faa davfw wrfwa sfefagerm et watym T — wErees SrTEswar Sriwa
91394382704,

Question Number : 127 Question Id : 91394321051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Behaviourist Adult Education (i) Learner takes an active role
(b) Progressive Adult Education (ii) Learner’s needs are key elements
(¢) Humanistic Adult Education (iii) Learner is self-directed
(d) Radical Adult Education (iv) Learners and teachers are equal in learning

Code :

Options:

(a)—i), (b)—(ii), (e)(iv), (d)(iii)
91394352705,



(a)—(ii), (b)—(iii), (e)(iv), (d)—(i)
91394382706,

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91234282707,

(a)(ii), (b)—(iv), (e)-(iii), (d)—(1)
91394382708,

Question Number : 127 Question Id : 91394321051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt 1t et 118 gafed fifsm ot = fqe me g 9 9 ad 39t 9fm
Tqel 1 = 10
(a) SHaERETl Faeh fem (i) Foremreff wfsra vt Frman 2
(b) wrreft ek fnem (i) Tonemeff it sravawand gea 7w @t §
(¢) HTaaraTe! T fer (iii) Fvereff =a-Fdfara &tam @
(d) e wfadwardt (tewa) aaes fen (iv) sfrm d freneff ot frerss oo & 2

®e:
Options:

(a)—(1), (b)—(ii), (e)-(iv), (d)—iii)
91394382705,

(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
91394382706,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394382707,

(a)—(ii), (b)—iv), (e)(iii), (d)—(i)
91234282708,

Question Number : 128 Question 1d : 91394321052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Pradhan Mantri Jan Dhan Yojana (i) ggth June, 2015

(b) Swachh Bharat Mission (ii) gth May, 2015

(¢) Atal Pension Yojana (i) ond etober, 2014
(d) Smart Cities Mission (iv) ggth August, 2014
Code :

Options:



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394382703,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234282710.

(a)—(ii), (b)—(iii), (e)—(i), (d)—liv)
912334582711,

(a)—(iii), (b)—~(1), (e)—iv), (d)—(ii)
91334382712,

Question Number : 128 Question Id : 91394321052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 11 & gufea Fifsw st i g 7o ge 4 o ad o+t 9fe

eI gt I
(a) WO T S 99 AT () 25 94, 2015
(b) E=e ¥Hd fimm (ii) 9%, 2015

() 3Fee FI Frar (iii) 2 37agaT, 2014
(d) e fadts fimm (iv) 28 3T, 2014

He:
Options:

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
91334282709,

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334282710,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91234282711,

(a)—(iii), (b)—(i), (e)—(iv), (d)—(ii)
91334582712,

Sub-Section Number : 5
Sub-Section I1d: 9139431112
Question Shuffling Allowed : Yes

Question Number : 129 Question Id : 91394321053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following years in a chronological order as declared :
(i) Year of Women's Empowerment
(ii) International Year of Sanitation
(iii) International Fresh Water Year

(iv) International Year of Youths
Choose the correct answer from the code given below :

Code :
Options:

(1), (i), (ii), (iv)
91334582713,

(i), (1), (iii), (iv)
91334382714,

(1), (111), (i), (iv)
91334582715,

(id), (iii), (1), (iv)
B12334582716.

Question Number : 129 Question Id : 91394321053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frfefiga aut =t 37t aifia fore s o esrmgen sqafeq $ifa
(i) wfgen gofraon af

(i) Irafedta waemar ad

(iii) afdta tows o o

(iv) SF=aafedty gar ad
fre feu T = & | W I H g

ESE
Options:

(iii), (1), (ii), (iv)
91334382713,

(1), (1), (1), (1v)
91334582714,

(1), (iid), (ii), (iv)
B912334582715.

(1), (1), (i), (iv)
H1334582716.

Question Number : 130 Question Id : 91394321054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following extension process in correct sequence :
(i) Analysing the situation

(ii) Deciding objectives/goals

(iii) Teaching

(iv) Evaluation
Choose the correct answer from the code given below :

Code :
Options:

(1n), (1), (iii), (iv)
91334582717,

(i), (1), (iv), (1iii)
91334382718,

(1), (11), (i), (1v)
913345827145,

(id), (iw), (1), (iii)
B1334582720.

Question Number : 130 Question Id : 91394321054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fefiga wam sfsrnedt =t adt 0 ° sgafin fifaw .

(i) ufcfeufa fagemm
(i) =g Faffa s
(iii) Faregor
(iv) qEaTHA
fr= few e e § | wdt I W g
He:
Options:
(i), (1), (i), (iv)
91394382717
(i), (i), (iv), (iii)
91394382718.
(), (i), (iid), (iv)
91394382719.
(id), (iv), (1), (i)
A1394382720.

Question Number : 131 Question Id : 91394321055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in sequential order :
(i) Data analysis

(ii) Frequenecy distribution

(iii) Tabulation

(iv) Data collection
Choose the correct answer from the code given below :
Code:
Options:
(1), (i), (iii), (iv)

91334582721,

(iw), (1ii), (ii), (i)
13345382722,

(i), (iv), (1), (1)
91334582723,

(id), (iii), (iv), (1)
B12334582724.

Question Number : 131 Question Id : 91394321055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr=fafiga =t adt w7 % sgafen Hifsu -
(i) Al favemm
(i) srmafe famom
(iii) FrofieRLor
(iv) #fwer dugm
fre feu T = & | W I H g
% :
Options:
(i), (iD), (iid), (iv)
91394382721
(i), (iii), (ii), (i)
91394382722,
(iid), (iv), (), (ii)
91394382723,
(i), (iid), (iv), (i)
91394382724,

Question Number : 132 Question Id : 91394321056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



yaaqd 3 woe v e faswm Sot w5 ad w °§ safo fif

(i) Haara
(ii) wEagd
(iii) Frara
(iv) TedTaes
fr= few o g2 & B wdt I H g
e
Options:
(iw), (iid), (ii), (i)
91394382725,
(id), (i), (iid), (iv)
91394382726,
(i), (iv), (id), (i)
41394382727
(), (i), (iid), (iv)
91394382728,

Question Number : 132 Question 1d : 91394321056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the pre and post-natal human development stages in correct order :
(i) Neo-natal
(ii) Pre-natal
(iii) Infancy
(iv) Childhood
Choose the correct answer from the code given below :

Code :

Options:

(i), (111), (i), (1)
91334582725,

(1), (1), (1ii), (iv)
B1334582726.

(1), (iw), (i1), (1)
B1334582727.

(1), (11), (1ii), (iv)
B913345382728.

Question Number : 133 Question Id : 91394321057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following procedurally in a correct order :
(i) Item analysis

(ii) Item writing
(iii) Item selection

(iv) Item try out
Choose the correct answer from the code given below :

Code :
Options:
(1), (ii), (iii), (iv)
21394282729,
(i), (iw), (i), (iii)
V1394252730,
(iw), (1), (ii1), (1)
91394382731,
(11, (i), (iw), (iid)
21394282732,

Question Number : 133 Question Id ;: 91394321057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr=feafiga sfsrmatt =+t a8t a0 § sgafim $ifau .
(i) ATgen fagemm
(ii) ATEeH W@
(iii) AT3eH =Iq
(iv) 3152y 218 3Mmae
fr= few e e § | wdt I W g
E:
Options:
(i), (id), (iid), (iv)
91394382729
(ii), (iv), (1), (iii)
91394382730,
(iv), (i), (iii), (i)
91394382731,
(i), (1), (iv), (iii)
91394382732,

Question Number : 134 Question Id : 91394321058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in order of their year of establishment :
(i) Indira Gandhi National Open University

(ii) Andhra Pradesh Open University
(iii) R. Tandon Open University

(iv) Kota Open University
Choose the correct answer from the code given below :

Code :
Options:
(i), (i), (iw), (iii)
21394282733,
(1), (ii), (iii), (iv)
V1394282734,
(1w}, (iad), (1), (1)
913942382735,
(111), (iw), (i), (1)
21394282736,

Question Number : 134 Question Id : 91394321058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Preafefiga st 37 Temaan o 3 wn § syafeuq Hifsm
() st it ot g Favafaeres

(ii) 379 w&¥ e favafaares

(iii) 3. 2ve g favafaarem

(iv) ®ier g favafaarem

fre feu T = & | W I H g

ESE
Options:

(i), (1), (iv), (1iii)
913345382733,

(1), (11), (i), (1v)
91334582734,

(iv), (1), (i), (i)
B12334582735.

(1), (iw), (i1), (1)
H1334582736.

Question Number : 135 Question Id : 91394321059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following states by sex ratio in the ascending order :
(i) Haryana

(ii) Kerala

(iii) Andhra Pradesh

(iv) Manipur

Choose the correct answer from the code given below :

Code :
Options:
(iw), (iii), (ii), (1)
21394282737,
(i), (iii), (iv), (i)
V1394252738,
(1), (i), (ii), (iv)
913942382739,
(1), (1i), (iii), (iv)
21394282740,

Question Number : 135 Question Id : 91394321059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr= fow o st 6t fom arara % s e A swafera fife

(i) eftamom
(i) e
(iii) STHER
(iv) =firg
fre feu T = & | W I H g
% :
Options:
(iw), (iii), (id), (i)
91394382737
(i), (iii), (iv), (i)
91394382738,
(iid), (1), (i), (iv)
91394382739,
(1), (id), (iii), (iv)
91394382740,

Question Number : 136 Question Id : 91394321060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following Acts and Policy in a chronological order :
(i) The Forest (Conservation) Act

(ii) The Air (Prevention and Control of Pollution) Act

(iii) National Environment Policy

(iv) National Environment Tribunal Act
Choose the correct answer from the code given below :

Code :
Options:

(1), (1), (iv), (iii)
91334552741,

(1), (i), (iii), (iv)
91334538274Z2.

(1), (1), (1), (1v)
91334582743,

(id), (iii), (1), (iv)
B12334582744.

Question Number : 136 Question Id : 91394321060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiaa sfufremt it Aifoai wt Fresrmgan ssaferm fifsw
(i) & (ween) siferfem

(i) arg (srgEor = Framor st Fraron) srfafem

(i) T et fifa

(iv) T qatar srfiemor arfifem

fre feu T = & | W I H g

ESE
Options:

(1), (i), (iv), (1iii)
913345382741,

(1), (11), (i), (1v)
91334582742,

(1), (1), (1ii), (iv)
B12334582743.

(1), (1), (i), (iv)
B1334552744.

Question Number : 137 Question Id : 91394321061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the density of population of the following States in a descending order (from higher
to lower) as per 2011 Census :

(i) Bihar

(ii) Kerala

(iii) Uttar Pradesh

(iv) West Bengal

Choose the correct answer from the code given below :

Code :
Options:

(1), (iv), (ii), (i)
91334582745,

(1), (i), (iv), (ii)
91334582746,

(iw), (1ii), (i), (i)
91334382747,

(1), (iv), (iii), (1)
91334582748,

Question Number : 137 Question 1d : 91394321061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2011 &t ST % sigEn Fefafaa osat % saaen sve w satd (IEa E fea) e H
safey hifau

(i) frmm

(ii) T

(i) I T
(iv) ufzem amre

3 fee Mg # A 7 Sw R IR
C T

Options:

(1), (iv), (i), (i)
91334582745,

(i), (1), (iw), (i)
B1334582746.

(iw), (1ii), (i), (ii)
91334382747,

(1), (iv), (iii), (i)
91334382748,



Question Number : 138 Question Id : 91394321062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following in sequential order to describe complete socialization :
(i) Man to society, Man to country

(ii) Man to relatives, Man to friends
(iii) Man to mankind, Man to universe

(iv) Man to self, Man to family
Choose the correct answer from the code given bhelow :

Code :
Options:

(i), (1), (ii), (iv)
91334582749,

(iw), (1), (iii), (i)
91334582750,

(id), (iii), (1), (iv)
91334382751,

(iv), (ii), (1), (ii1)
91334582752,

Question Number : 138 Question 1d : 91394321062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hequl STt i aftfd w6 e § sgafera Hif
(i) Hara o fer =afw, 30 % fore =afw
(i) wafui & foe =afe, frl & fom =afw

(iii) grean % feg =4, fava & fog =afw
(iv) T = foru =afer, afEm % fou =afE
fr= few me 52 4 | ot I+ g
C T
Options:
(i), (1), (ii), (iv)
91394382749,
(iv), (i), (iid), (ii)
91394382750.
(id), (i), (1), (iv)
91394282751

(iv), (ii), (1), (ii1)
91334582752,



Question Number : 139 Question Id : 91394321063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following stages of innovation in correct order :

(i) Diffusion of Innovation
(ii) An Innovation
(iii) Social Change

(iv) Adoption of Innovation

Choose the correct answer from the code given bhelow :

Code :
Options:

(1), (1), (1v), (1)
91334582753,

(1), (1), (iv), (iii)
91334582754,

(1), (i), (iii), (iv)
913345382755,

(i1}, (iw), (1), (ii1)
91334582756,

Question Number : 139 Question 1d : 91394321063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Farar & Fefafias ot = od sa & sgafem fifew .
(i) Fam=Er & famm

(i) FEmER
(iii) Fm=TRaR gfEd=

(iv) FETER ST
e g me g § @ wdt 3w R Ihac

Hhe:

Options:

(i), (1), (iv), (111
B1334582753.

(1), (i), (iv), (1ii)
913345382754,

(1), (11), (i), (1v)
91334582755,

(id), (iw), (1), (iii)
91334582756,



Question Number : 140 Question Id : 91394321064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following adopter’s categories in the chronological order :
(i) Early adopters
(ii) Early majority and Late majority
(iii) Innovators
(iv) Laggards
Choose the correct answer from the code given below :
Code :
Options:
(iii), (i), (ii), (iv)

91334582757,

(1), (i), (iii), (iv)
B1334582758.

(1), (1), (1ii), (iv)
91334382759,

(1a1), (i), (1), (iv)
91334582760,

Question Number : 140 Question 1d : 91394321064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ffimrgureal it Frafafaa afirat =t wd Srewagan sgafem fifsw
(i) wrifir o

(i) wrifire Hfidt of fefaenrtt =ifcd

(iii) =

(iv) TTTSH

fre feu T = & | W I H g

% :

Options:

(iii), (1), (ii), (iv)
91334382757,

(1), (11), (1ii), (iv)
91334582758,

(1), (1), (1ii), (iv)
91334582759,

(1), (ii), (i), (iv)
B1334582760.



Sub-Section Number: 6
Sub-Section 1d: 9139431113
Question Shuffling Allowed : Yes

Question Id : 91394321065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

Read the passage given below and answer the questions that follow based on
yvour understanding of the passage.

Positive thinking leads a man to success. One who thinks that he can achieve the goal, will
put his best to achieve, will not fetter by the problems in the path of success and one day he
will win positively. Self confidence, determination, perseverance, and hard work are the key
factors of success. Where there iz a will, there is a way. If you find any problem, a typical
one, don’t lose heart, go ahead and devote yourself fully, analyse each aspect, and get the
problem solved. Dedication, devotion to the task and positive thinking with determination
have been the important factors of success of every successful man. A winner never quits
and a quitter never wins shows that one who constantly tries to achieve something, one
who endeavours hard incessantly to achieve something, he is the winner, later or sooner,
but a quitter could never be a winner. Confidence is the most important key to success. It
boosts the morale and creates determination to attain a goal. The loss of confidence makes a
man pessimist and coward. Your biggest assets are your enthusiasm that enriches with your
positive thinking. Never lose hope, keep cheerful, put the best possible efforts with your
total involvement, have confidence in you and you are the winner.

Sub questions

Question Number : 141 Question Id : 91394321066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the key factor of success ?

Options:
91394380761 eiconfidence
91394382760, Cver confidence
Unpredictive
91394382763,
Superiority
91394382764,

Question Number : 142 Question 1d : 91394321067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A successful person is one who

Options:



Always worries

91394382765
91394382766, o
91394382767 Never compromises
91394382768, o o bothers

Question Number : 143 Question Id : 91394321068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which approach says, “where there is a will, there iz a way™ ?

Options:

91394382769, | ossimist
Optimist

91394382770,

91394380771, onrealist

91394380770, en-enthusiast

Question Number : 144 Question Id : 91394321069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“A winner never guits and a guitter never wins” because of

Options:

91394382773, Cowardie
91394382774, | ndecisive
91394382775, Perzeverance
9139438077, Conservative

Question Number : 145 Question Id : 91394321070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which is the most important key to success 7

Options:



Inconsistency
91394382777,

Irregulari
91334582778, v

Irresponsibili
Q1294382779 W

91394380750, Resilience

Question Id : 91394321065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

Frer fau o srqede @ uffu of srot wwe & smun @t e o vt & s A |
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Faeg Tal w3 us e g Fifvad w9 @ Sfam | srenfazams, gefeey st e ot w8t
HEEA! & Y& 9o & | el g e 8 9l wrf 0 6t vw oft ® | 9fg e an i fafise gwen
Frdft 2t fewra 7 B/, o @ weke vee # favero s gu ol wwdw & @ w0 9t wwen w
garer et Freker | gefiesa, sk % wf aadn s grrerE @ % T1Y Fedweadl Yo TR
safes &t aheadl & mevgyl e 8 | fastar st g 3w ot e aren safw woft s o .
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CEul

Sub questions

Question Number : 141 Question Id : 91394321066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
B! 1 JET e HA-41 7 ?

Options:

B1334582761.

B1334582762.

T

91334582763,

B12334582764.



Question Number : 142 Question Id : 91394321067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U Te sAfth 98 s4fth ardl & W

Options:

aon e = B
91394382765, ¢

EEATE |
91394382766,

ot geeitar 781 w5 |
91394382767, T

B12334582768. A ST T A |

Question Number : 143 Question Id ;: 91394321068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Sef arg 8, 98t 1 &7 Fhm fmmamm s e 2 2
Options:

B12334582769.

91334582770,

912334582771,

B1334582772.

Question Number : 144 Question Id : 91394321069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“feror ft B T A ofit BN A aren ot S @ &7 are fRE o & 2

Options:

91334582773,

[EREEER]

91334582774,

91394382775,



B1334582776.

Question Number : 145 Question Id ;: 91394321070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Aherd ht waifas gl Fet 8 ?
Options:
1594282777,
A13943E277E.
ot
F13943E277 9.
ferrara
91394352780,
Sub-Section Number: 7
Sub-Section Id: 9139431114
Question Shuffling Allowed : Yes

Question Id : 91394321071 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Read the passage given below and answer the questions that follow based on
your understanding of the passage.

Since in all societies discrimination on the baszis of sex often starts at the earliest stages of
life, greater equality for the girl child iz a necessary first step in ensuring that women
realize their full potential and become equal partners in development. In a number of
countries, the practice of pre-natal sex selection, higher rates of mortality among very
young girls, and lower rates of school enrolment for girls as compared with boys, suggest
that “son preference” is curtailing the access of girl children to food, education and health
care. This is often compounded by the inereasing use of technologies to determine foetal sex,
resulting in abortion of female foetuses. Investment made in the girl child’s health,
nutrition and education, from infancy through adolescence, are critical. Leaders at all levels
of the society must speak out and act forecefully against patterns of gender discrimination
within the family, based on preference for son. Special education and public information
efforts are needed to promote equal treatment of girls and boys with respect to nutrition,
health care and education.

Sub questions

Question Number : 146 Question 1d : 91394321072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Discrimination of sex leads to



Options:

Conflicting mind and depression

91394382781,
Resolution of problems
91394382782
Stability of ulation
91394382783, ty of pop
9139438075q Coreater faith in humanism

Question Number : 147 Question Id : 91394321073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What are the causes of higher rate of mortality ?

Options:
Increasing the women empowerment ratio
Q1=29425278E.
91394380755, -ack of health awareness
a1394350757 Deter education and health care
Advancement of technology
Q13942827 88.

Question Number : 148 Question Id : 91394321074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Gender education refers to

Options:

Only adult education
91394382789,

Only girls education
91394282790, ¥ gir

Only boys education
91394382791
91394382792, Education of both sexes

Question Number : 149 Question Id : 91394321075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Use of technology by unscrupulous people in sex determination has led to

Options:

91394380793, afe motherhood

91594339794 Imbalance in sex ratio

Reduced infant mortality
91334282735,

91394380796, Detter health services

Question Number : 150 Question Id : 91394321076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lack of health education paves the way to

Options:

Better living conditions
9139423827937,

Malnutrition, unemployment, poverty and poor sanitation
Q13943827 98. ploym po poo

Su o, unmindfulness whether itive growth or not
Q13942827499 pereg post gro

Equality in all aspects
Q1594282800 q v

Question Id : 91394321071 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

e fore o ety i afRw s ey i ot TEE % HTHR W, 39 =1 f2u T wyEt wrIm
#ifor |
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g wltar 1 I A @, fan i e ot o arfawme @ owde d w09 A 2w
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&, 3t ot =g el @ | anfermadt % wameen, drew offt fran W I Svraere @ o e o R
sraren Fraw wevapl 2 1 Saed it gars % aft Tl @, fen | g7 st % smanr o s e fom
amurfia Sewra &t wiau % faeg e swmare et wfen sit St st & sniféra e st =nfee |
gt Eareey it ot fren & Hef o @gwl o sl & a1y wam wata w6t agEn 34 % fo
fergy frem i s —g= wamE fere o =R |

Sub questions



Question Number : 146 Question Id : 91394321072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fém 9ig i oo & Frefofias § & @ g &
Options:

goeq-fattdt 59 ot aaEme
91394382781,

B91334538278%. i

91334582753, *

AadTare 8§ J=qd faaa
91394382784,

Question Number : 147 Question Id : 91394321073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFrefafaa d 4 e s d sm gy et 2 2
Options:

ufen wardheRor S1quTd agET
91394382785,

91334582756, 1

agar fen it wareey wf=d
91394382787,

91334582788,

Question Number : 148 Question Id : 91394321074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et v Frfefiaa 4 @ foraet 3fia s 2 2
Options:

91334582759,

912334582730,

913345382731, S e R (T )



=it i
91394382792, o A A e

Question Number : 149 Question 1d : 91394321075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ffere =t gro fom Frafeor # stenfireft % w6 a9 @ Feafofaa 9 8 = afea gan @
Options:

gUEa g

91334582793,

fem srqama # srEgen
91394382794,

Pl &
Gl13a42582795, Eﬁﬁrﬂﬂ

g TaTEeg Hand

91334582736,

Question Number : 150 Question Id : 91394321076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wareey firen <t wft it 998 @ Fefoafiga 4 4 g ol g g 2 7

Options:

& it weer feafa

913345827397,

o, e, it o w wmmen Rl
91394382798,

91304380799, o T, g St e T S e fereh 2t @ sveran T

[yt vegga | guma
91394382800,



